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Table A 2.1 Experimental passages used in Experiment
j 1

An ambiguous version of each passage is shown. The
name which was changed in the unambiguous version and the
name which was substituted are shown at the end of each
passage. The target sentences are presented in Condition T
= S and are underlined.

1 MARY
Mary usually got on very well with her younger sister Jenny
even though she didn't see her very often any more. So
when her parents went away on holiday for a fortnight she
moved back home to keep Jenny company. Mary had a flat on
the other side of town but she was quite pleased to come
home once in a while. Today was Saturday and she didn't
have any plans ‘for the weekend. Mary asked Jenny to phone
the theatre to see what was on when she joined her for
breakfast. They had to do some shopping in the morning
because they ‘'had some friends coming for lunch on Sunday
but that didn't take them very long.
(Jenny = Peter in the unambiguous version.)

Questions . Correct, answer
1 Mary lived at home all the time. False
2 Their parents were on holiday. True

3 Mary joined Jenny for breakfast.
2 JAMES

James didn't like going to school at all. Even though this
was only his second year there he had made up his mind to

leave as soon as he could. His teachers told him off even
when he was trying to be good so he'd decided it wasn't
worth trying -anymore. In any case one of the other

children in his class called Andrew was always getting him
into trouble. 'Last Friday Andrew had pinched his new water
pistol and then James had started fighting Andrew and he
kicked him just as the teacher came out into the
playground. She told them both off and James didn't think
it was fair because Andrew had started it.

(Andrew = Elaine in the unambiguous version.)

Questions ' Correct answer
1l James had been at school for seven years. False
2 The teacher told them both off. True

3 James kicked Andrew.

3 JANE
Jane was tired of being told that she wasn't as clever as
her sister Monica. At school her teachers often told her
that she would have to do better if she was going to do as
well as her sister. She tried hard to get good marks but
even when she was pleased with her results her parents and
teachers didn't seem satisfied. One thing that she was
quite good at was chess. Jane often played against Monica
and she usually beat her. Most of the time they got on

i 2



quite well tbgether despite the comparisons that others

made between them,
(Jane = Carl in the unambiguous version.)

Questions ; Correct answer
1 Jane was told that she wasn't as clever as

her sister., True
2 Jane's teachers were satisfied with her marks. False
3 Jane usually beat Monica at chess.

| 4 SARAH
Sarah had always wanted to go to University and her parentsr
had encouraged her to go but she wasn't very happy now she
was there. She didn't really enjoy her course and she was
finding it hard to settle in to her new way of life. She
found that she missed her home town and her friends there
much more than she ever thought she would. In particular
she missed her friend Trish who still lived at home. Sarah
went to see Trish and she told her what had been happening
since they had been apart. Sarah decided to stay at
University at least until the end of her first term and
then make up her mind what to do. ’

(Trish’' = Clive in the unambiguous version.)

Questions : Correct answer

1 Sarah was flinding it hard to settle down. True

2 Sarah's parents discouraged her from going to
University. False

3 Sarah told Trish what had been happening since
they had been apart.

5 SHAUN

Shaun started - to get worried as it became darker and the
mist grew thicker. He was the leader of this walking
expedition in ‘the Lake District and he felt responsible for
the others following him. He hadn't realised 1t would take
then so long tio walk back. They came to a place where the
path narrowed over a steep drop and Shaun decided to go
ahead with his friend Ben to make sure it was safe before
the others followed. Shaun led Ben along the path and he
called to him to be carerul. They got safely over to the
proper path and shouted to the others that it was all right
and eventually they all made their way down to their
minibus at the bottom.
(Shaun = Clare in the unambiguous version.)

Questions Correct answer
1 Shaun was the leader of the expedition. True
2 They were walking in Wales. False

3 Shaun called to Ben to be careful.
6 MR BENTLEY

Mr Bentley was on his way to see his mother in Okehampton.
He didn't like driving long distances but 1t was difficult
to get to Okehampton by train. He always drove carefully
and it was lucky that he did because as he turned one
corner he came across a herd of cows blocking the road.



Fortunately he stopped in time but he thought it was very
dangerous because they were hidden by the sharp bend so he

stopped the man in the car behind. Mr Bentley talked to
the car driver and he told him that they wouldn't be 1long
because the cows only had to go into the next field. The

rest of the journey passed uneventfully and Mr Bentley
arrived at his mother's house just before it got dark.

(Man = woman in fourth sentence in the unambiguous
version.)

Questions Correct answer

1 Mr Bentley was driving to see his wife. False

2 The cows were hidden by a bend. True

3 Mr Bentley told the car driver that they wouldn't
have to wait long.

7 HERBIE

Herbie had been planning the raid on the Drug Store for
weeks and he had gone over every detail so carefully that
he was sure it would work. When the day finally arrived he
became very nervous and at the last minute he took a gun
with him 1in case anything went wrong - and things did go
wrong.” The owner was still there when he arrived and
before Herbie could stop him he had pressed the alarm so in
his panic Herbie fired at him wounding him in the arm.
Herbie quickly gathered together all the spare cash he
could find but just as he was leaving a police car screamed

round the corner and a policeman jumped out. Herbie saw
the policeman and he shot at him but this time nobody was
hurt. Herbie tried to get across to his car on the other

side of the road but he was overpowered before he reached
it.
(Policeman = policewoman in the unambiguous version.)

Questions Correct answer
1 Herbie had planned the raid at the last minute. False
2 The owner set off the alarm. True

3 Herbie shot at the policeman.

8 DIANE
Diane was very keen on outdoor sports and she would have
loved to be able to sail but she couldn't aftford 1lessons
while she was still at school. She was very interested to
see that the new people who had moved in next door had a
sailing dinghy. It was a small one and ideal for beginners
to 1learn in. There was a girl about her own age 1in the
family called Nicola and she soon called round to see her.
Diane 1liked Nicola straight away and after they had been
talking for a while she asked her if she enjoyed sailing.
They arranged to go sailing that weekend if the weather was
fine and Nicola's father would take them.

(Diane = Colin in the unambiguous version.)
Questions Correct answer
1 Diane liked outdoor sports. True
2 The family next door had lived there for years. False

3 Diane asked Nicola if she enjoyed sailing.



< 9 MR ROBERTS

Mr Roberts usually dreaded going on holiday with his family
but this year he was looking forward to it. He was having
problems at work so he welcomed the break and he was
pleased to have‘persuaded his family to go to Wales this
year for a change. In fact he did enjoy his holiday this
year more than he had done for years. He even enjoyed
going down to the beach with his son Jonathan and his
daughter Caroline.. On the second afternoon they were there
Mr Roberts taught Jonathan how to make a kite and he showed
him how to make it fly properly. By the end of the holiday
Mr Roberts felt refreshed and ready to go back to work.
(Jonathan = Caroline in the unambiguous version.)

Questions . Correct answer
1 Mr Roberts was having problems at work. True
2 They were on holiday in Scotland. False

3 Mr Roberts showed Jonathan how to make the kite
fly properly.

10 SIMON

Simon had onlyljust joined the firm and he felt ill at ease
with the other people in his office and unsure of himself
in his new job. He didn't give that impression though
because he made a great effort to appear happy and
confident while he was at work. But in the evenings when
he was on his own he felt quite miserable. One of the
other people in his office had only just started there too
and his name was Geoff. Simon knew Geoff and he envied him
although he had no reason to. The other people in the
office were very friendly and after a few weeks things
didn't seem so .bad.

(Simon = Penny in the unambiguous version.)
‘Questions ’ Correct answer
1 Simon had only just joined the firm. True
2 The other people in the office were unfriendly. False
3 Simon envied Geoff.

11 FIONA

Fiona was feeling a bit fed up with being at home on her
own. She was used to having a lot of people around her and
she didn't 1like it when things were so quiet. Sunday
afternoons were always dull in her opinion if she didn't go
away for the weekend. She felt in a pensive mood so she
decided to go for a walk by the river and on her way down
the steep slope that led to the river she saw her friend
Anna in the distance. Fiona waved at Anna and she smiled
at her. Anna didn't have anything to "do and it was a sunny
afternoon so they walked by the river together and Fiona
felt a lot better when she got home. '
(Anna = Adam in the unambiguous version.)

Questions Correct answer
1l TFiona was feeling miserable on her own. True
2 It was raining. False

3 Fiona smilediat Anna.



12 RORY

Rory was very fierce - in fact everyone said he was the
most dangerous dog in the neighbourhood. Rory belonged to
a couple who were out at work all day and he was often left
to roam the streets on his own. A lot of people in the
area had young children and they were afraid to 1let them
near him. In comparison the little poodle called Alfie who
lived down the same street was very friendly. Rory met
Alfie on the street one day and he bit him. This led to a
big fight which Alfie's owners heard and they rushed out
into the street to part them.

(Alfie = Sally in the unambiguous version.)
Questions - Correct answer
1 Rory was a gentle dog. False
2 A lot of people in the area had young children. True
3 Rory bit Alfie.




Table A 2.2 One of the filler passages used in
Experiment 1

1 MELANIE

Melanie was watching a film on television when her mother
came in and asked her to go and buy some lemonade and
crisps for supper. Melanie didn't want to go but she knew
there was no point in arguing. The film was just getting
exciting so she asked her sister Gillian to watch what
happened and then she ran down to the shop at the corner of
the road. It wasn't until she had asked for what she
wanted that she realised that she had forgotten her purse.
Luckily she knew Mr Shaw who owned the shop quite well and
he said she could pay him next time she came in. She ran
back home and was annoyed to find that Gillian had switched
the film off and was listening to the radio instead.

Questions Correct answer
1 Melanie was reading a book. False
2 The shop was at the corner of the road. True
3 Melanie asked Gillian to watch what happened in

the film while she was out. - True



Table A 2.3 Number of true and false answers required for
correct answers to the guestions used in Experiment 1

PASSAGES
EXPERIMENTAL FILLER
Ambiguous Unambiguous
Question -
about . True False True False True False
Topic 7 5 7 5 6 9
General 5 7 5 7 10 5
Critical ques. - - 6 6 6 8
Total 12 12 18 18 22 22
Critical dques: = Critical guestion about the topic and

nontopic to determine assignment.

The number of true and false responses for each guestion
type was originally equal, but one passage intended as an
experimental passage was exXxcluded from the analysis and
treated as a filler passage instead (because it contained
plural pronouns).



Table A 2.4 :Design of Experiment 1
Group of
Subjects Experimental passage
(10 per :
group) 1 2 3 4 5 6 7 8 9 10 11 12
1 Aa Ab Ba Bb Ca Cb Fa Fb Da Db Ea Eb
4 5 6 1 2 3 4 5 6 1 2 3
2 Bb Ba Cb Ca Fb Fa Db Da Eb Ea Ab Aa
5 6 1 2 3 4 5 6 1 2 3 4
3 Ca. Cb Pa Fb Da Db Ea Eb Aa Ab Ba Bb
6 1 2 3 4 5 6 1 2 3 4 5
4 Fb Fa Db Da Eb Ea Ab BAa Bb Ba Cb Ca
1 2 3 4 5 6 1 2 3 4 5 6
5 Da Db Ea Eb Aa Ab Ba Bb Ca Cb Fa Fb
2 3 4 5 6 1 2 3 4 5 6 1
6 Eb Ea Ab Aa Bb Ba Cb Ca Fb Fa Db Da
3 4 5 6 1 2 3 4 5 6 1 2
7 Ab Aa Bb Ba Cb Ca Fb Fa Db Da Eb Ea
4 5 6 1 2 3 4 5 6 1 2 3
8 Ba Bb Ca Cb Fa Fb Da Db Ea Eb Aa Ab
5 6 1 2 3 4 5 6 1 2 3 4
9 Cb Ca Fb Fa Db Da Eb Ea Ab Aa Bb Ba
6 1 2 3 4 5 6 1 2 3 4 5
10 Fa Pb Da Db Ea Eb Aa Ab Ba Bb Ca Cb
1 2 3 4 5 6 i 2 3 4 5 6
11 Db Da Eb Ea Ab Aa Bb Ba Cb Ca Fb Fa
2 3 4 5 6 1 2 3 4 5 6 1
12 Ea Eb RAa Ab Ba Bb Ca Cb Fa Fb Da Db
3 4 5 6 1 2 3 4 5 6 1 2
Target sentence:
A = Ambiguous, T = S
B = Ambiguous, NT = S
C = Unambiguous, TS
D = Unambiguous, TO
E = Unambiguous, NTS
, F = Unambiguous, NTO
Question orders (where Question 1 = about topic, 2 =

general and 3 = critical question in experimental passages,
about 'topic' and 'nontopic' in filler passages):-
1=1, 2,3;2=1, 3, 2; 3=2,1, 3; 4=2, 3, 1; 5=3,

l, 2; 6=3"2' lo
Critical question:- a: T = S, b: NT = S.

: 9



Table A 2.5 Number of assignments to the subject and
object in each passage by condition - Experiment 1,
ambiguous passages

. TOPIC = SUBJECT NONTOPIC = SUBJECT
Assignment
Passage to: Subject Object Subject Object
1 maRy 13 71 12 8
2 JAMES 18 2 9 11
3 JANE 18 2 12 8
4 SARAH 15 5 17 3
5 SHAUN 17 3 14 6
6 MR BENTLEY 12 8 15 5
7 HERBIE 19 1 12 8
8 DIANE 16 4 15 5
9 MR ROBERTS 20 0 17 3
10 SIMON 18 2 15 s
11 FIONA 10 10 13 7
12 RORY 18 2 16 4
Total 194 46 167 13
Mean 16.2 3.8 13.9 6.1

10



Table A 2.6 Summary tables for the analyses of variance of

assignments - Experiment 1, ambiguous passages

El Analysis by readers

Source df Sum of Mean Fq p
Squares Squares

Between readers 11 0.00

Within readers 360 305.98

T=8S/ NT =8 * 1 0.00 0.00

Error (a) 119 0.00 0.00

Assignment (S/0) 1 122.00 122.00 159.57 0.0000
Error (b) 119 90.98 0.76

T / NT = S X Assignment 1 6.07 6.07 8.31 0.0049
Error (ab) 119 86.93 0.73

Total 305.98

Significant main effect of assignment (more to the subject)
and significant interaction between subject of sentence and

assignment to the subject or object.

Eg Analysis by passages

Source df Sum of Mean F, p
’ Squares Squares

Between passages 11 0.00

Within passages 36 16l4.14

T=S,/NT =28 * 1 0.00 0.00

Error (a) 11 0.00 0.00

Assignment (S/0) 1 1220.18 1220.18 77.59 0.00003
Error (b) 11 172.99 15.73

T / NT = S x Assignment 1 60.73 60.73 4.17 0.06352
Error (ab) 11 160.24 14.57

Total ’ 1614.14

Significant main effect of assignment (more to the subject)
and significant interaction between subject of sentence and

assignment to the subject or object.
* T =S / NT = S sum of squares is simply picking up

difference in the number of passages used in the
conditions and is necessarily constrained to zero.

11
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Table A 2.7 Number of words in the target sentence of
- each passage in Experiment 1

Passage; Number of words in target sentence
""" 1 mARY' 18
2 JAMEé 29
3 JANE/'_CARL ‘ 10
4 SARAH% 18
5 SHAUNkCLARE : 14
6 MR BENTLEY 27
7 HERBIE/HERB 15
8 DIANE/COLIN 21
9 MR ROB"ERTS 26
10 SIMON/?ENNY 13
11 FIONA " 9
12 RORY 12
""" Range . 9-20
Mean E 17.7

12



Table A 2.8 Mean reading rates (words per second) for

each passage by condition - Experiment 1, ambigquous
passages
Passage Topic = Subject Nontopic = Subject
1wy 3.7 3.6
2 JAMES 3.83 3.57
3 JANE 4.21 2.02
4 SARAH 4.96 4.79
5 SHAUN 4.10 3.39
6 MR BENTLEY 3.61 4.48
7 HERBIE 4.01 3.76
8 DIANE 4.28 4.00
9 MR ROBERTS 4.84 3.76
10 SIMON 4.80 3.12
11 FIONA 4.59 3.56 \
12 RORY 4.75 3.98
“overall mean  4.26  3.66

13



Table A 2.9 Summary tables for the analyses of wvariance
of reading rates by condition - Experiment 1, ambiquous

passages
El Analysis by readers
Source df Sum of Mean F| p
Squares Squares
Between readers 119 325.21
Within readers 119*% 143.60
T=S/NT =S8 1 21.43 21.43 20.88 0.00008
Error 118* 122.17 1.03
Total 468.81

* Degrees of freedom adjusted to take account of rate
calculated by Winer's formula.

Significant main effect of subject of sentence (T = S
faster than NT = §).

F, Analysis by passages

Source df Sum of Mean F, p
Squares Squares
Between passages 11 4.84
Within passages 12 6.01
T=8/NT =5 1 2.20  2.20 6.33 0.027
Error . 11 3.81 0.35
Total 10.85
Significant main effect of subject of sentence (T = S

faster than NT = S).
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Table A 2.10 Mean reading rates (words per second) for
each passage by condition and assignment - Experiment 1,
ambiguous passages

Topic = Subject Nontopic = Subject
Assignment to: Subject Object Subject Object
Passage
1 mary 3.3 2.77 3.3 3.59
2 JAMES | 3.69 5.04 3.44 3.68
3 JANE 4.31 3.36 2.11 1.88
4 SARAH ; 5.15 4,36 4.93 3.62
5 SHAUN 3.95 4.95 2.79 4.80
6 MR BENTLEY 3.40 3.93 4.58 4.18
7 HERBIE  3.98 4.59 3.73 3.80
8 DIANE | 4.41 3.76 3.89 4.35
9 MR ROBERTS 4.84 4.30% 3.74 3.85
10 SIMON 5.00 2.92 3.36 2.25
11 FIONA 5.03 4.15 3.52 3.65
12 RORY 4.88 3.63 3.94 4.15
Overall means 4.34  3.98  3.62  3.65

* Calculated uéing Winer's formula

15



Table A 2.11 Summary tables for the analyses of variance
of reading rates by condition and assignment - Experiment
l, ambiguous passages

El Analysis by readers

Source daf Sum of Mean Fy p
Squares Squares
Between readers 11l 7.47
Within readers 36 17.93
T=8S,/NT =S8 1 2.53 2.53 6.82 0.023
Error (a) 11 4.07 0.37
Assignment (S/0) 1 0.88 0.88 1.91 0.193
Error (b) 11 5.06 0.46
T / NT = S x Assignment i 0.08 0.08 0.17 0.692
Error (ab) 11 5.31 0.48
Total 25.40
Significant main effect of subject of sentence (T = S

faster than NT = S).

Eg Analysis by passages

Source df Sum of Mean F, o)
Squares Squares

Between passages 11l 9.20
Within passages 35% 183.81 ‘
T=8S/NT =8 1 3.30 3.3V 6.80 0.0233
Error (a) 11 5.33 0.49
Assignment (S/0) 1 0.31 0.31 0.48 0.5092
Error (b) 11 7.21 0.66
T / NT = S x Assignment 1 0.45 0.45 2.26 ns
Error (ab) 10%* 2.21 0.20
Total 28.01

*Degrees of freedom adjusted to take account of rate
calculated using Winer's formula.

Significant main effect of subject of sentence (T = S
faster than NT = S).



Table

A 2.12 Mean verification rates for each passage

response - Experiment 1, ambiguous passages

. Passage

1 MARY
2 JAMES
3 JANE

4 SARAH
5 SHAUN

6 MR BENTLEY
7 HERBIE
8 DIANE

9 MR ROBERTS

10 SIMON
11 FIONA
12 RORY

Overall mean

17
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Table A 2.13 Summary tables for the analyses of wvariance
of verification rates by response - Experiment 1, ambiguous

passages
El Analysis by readers
Source . af Sum of  Mean Fi p
Squares Squares
Between readers 110 266.09
Within readers. 111 149.67
True / False . 1 2.90 2.90  2.17 0.14
Error ' 110 146.78 1.33
Total 415.76
No significant difference between )'true' and 'false’

verification rates.

Eg Analysis by passages

Source l af Sum of Mean F, P
Squares Squares
Between passages 11 9.29
Within passages 12 1.53
True / False 1 0.96 0.96 18.78 0.0015
Error ! 11 0.56 0.05
Total 10.81

Significant main effect of response ('true' taster than
'false'). '

18



Table

A 2.14

Mean verification rates for each passage by

condition, assignment and response - Experiment 1,
ambiguous passages
Topic = Subject Nontopic = Subject
Assignment to: Subiject Object Subject Ob ject
True False True False True False True False
Passage
1 marY 3.31 2.51 2.74 4.62 3.18 2.24 2.61 4.25
2 JAMES 3.15 2.53 3.43 4.69 2.50 2.62 4.14 2.74
3 JANE 3.52 3.37 2.86 3.17 2.86 2.91 3.09 2.41
4 SARAH 3.17 2.85 2.93 2.25 4.10 3.15 1.69 2.56
5 SHAUN 3.46 3.31 2.47 1.82 3.45 3.24 5.38 4.73
6 MR BENT. 2.73 2.52 2.29 2.26 3.48 3.05 2.81 1.89
7 HERBIE 5.58 4.86 4.65* 7.14 3.68 4.31 4.03 3.58
8 DIANE 4,27 2.73 1.73 2.73 3.33 2.93 2.90 1.64
9 MR ROB. 3.46 2.68 2.86* 2.,72*% 2,65 3.72 2.97 2.21
10 SIMON 5.57 4.99 1.75 2.43 4.52 3.84 4.02 3.04
11 FIONA 1.98 4.75 5.10 4.07 4.10 2.85 5.92 2.63
12 RORY 4.63 3.62 1.86 2.a47 4.49 4.70 1.97 3.12
overall T
means 3.74 3.39 2.89 3.36 3.53 3.30 3.46 2.90
MR BENT. = MR BENTLEY
MR ROB. MR ROBERTS

*Calculated using Winer's formula.
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Table A 2.15 Summary tables for the analyses of variance
of verification rates by condition, assignment and response
- Experiment 1, ambiquous passages

El Analysis by readers

Source df Sum of Mean Fy P
Squares Squares

Between readers 11 14.28
Within readers 8l* 89.77
T=8S,/NT =S8 1 0.07 0.07 0.09 0.770
Error (a) 11 8.21 0.75
Assignment (S/0) 1 2.65 2.65 4.04 0.067
Error (b) 11 7.21 0.66

True / False 1 0.42 0.42 0.57 0.529
Error (c) 11 8.07 0.73
T / NT = S x Assignment 1 0.24 0.24 0.23 0.647
Error (ab) 11l 11.67 1.06
T / NI = S x True / False 1 1.67 1.67 1.19 0.299
Error (ac) 11 15.48 1.41
Assignment X True / False 1 0.58 0.58 0.36 0.565
Error (bc) 11 17.48 1.59
T/NT=S x Asst x T/F 1 2.45 2.45 1.99 ns
Error (abc) 8* 13.57 1.23
Total 104.05

Marginal effect of assignment (assignment to subject
faster).

* Degrees of freedom adjusted to take account of rates
calculated by Winer's formula.
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Table A 2.15 continued

EZ Analysis 92 passages

0.810

0.288

0.158

ns

0.148

0.545

Source . df Sum of Mean F,
Squares Squares

Between passages 11l 30.92
Within passagesl 8l* 75.39
T=S8/NT =8 . 1 0.06 0.06 0.06
Error - (a) : 11 11.17 1.02
Assignment (S/0) 1 2.69 2.69 1.25
Error (b) ' 11 23.76 2.16
True / False 1 0.65 0.65 2.28
Error (c) 11 3.15 0.29
T / NT = S x Assignment 1 0.25 0.25 0.32
Error (ab) 10* 8.77 0.80
T / NT = S x True / False 1 1.28 1.28 2.39
Error (ac) ‘ 11 5.90 0.54
Assignment x True / False 1 0.36 0.36 0.40
Exrror (bc) ' 11 9.81 0.89
T/NT=S x Asst x T/F 1 1.97 1.97 3.90
Error (abc) 9% 5.56 0.51
Total 106 .31
Marginal interaction between = subject of

assignment and response.

*Degrees of freedom adjusted to take account
cakulated by Winer's formula.
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Table A 2.16 Mean reading rates (words per second) for
each passage by condition - Experiment 1, unambiguous

passages

Pronoun referred to

Topic Topic Nontopic Nontopic
Passage Subject Object Subject Object
1 maRY  3.69  3.49 4.1 3.23
2 JAMES 4.31 3.96 4,38 3.56
3 CARL 4.33 3.83 3.09 3.50
4 SARAH 5.65 3.93 4.83 4.81
5 CLARE 4.74 4.75 3.83 4,57
6 MR BENTLEY 4.16 4.64 3.75 4.19
7 HERB 4.35 3.48 3.24 3.42
8 COLIN 4.82 4.83 4.86 4.59
9 MR ROBERTS 4,34 4.05 4,24 3.51
10 PENNY 4.23 3.43 4.66 3.00
11 FIONA . 3.39 4.46 3.65 4.43
12 RORY 4.32 4.83 4,08 3.52
overall mean  4.36 i.04 406 3.86
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Table A 2.17 Summary tables for the analyses of variance
of reading rates by condition - Experiment 1, unambiguous

passages
El Analysis by readers
Source - at Sum of Mean Fy p
, Squares Squares
Between readers 119 534.39
Within readers 360 376.75
Pronoun = T/NT 1 10.23 10.23 12.80 0.0008
Error (a) . 119 95.16 0.80
Pronoun = S/0 1 4,98 4.98 4.23 0.0394
Error (b) i 119 140.11 1.18
Pron = T/NT x S/0 1 0.04 0.04 0.04 0.8400
Error (ab) 119 126.23 1.06
Total 911.14

Significant main effects of pronoun referring to the topic
or nontopic (Pronoun = T faster) and pronoun referring to
the subject or object (Pronoun = S faster).

Eg Analysis QX passages

Source df Sum of Mean F, o)
Squares Squares

Between passages 11 7.27

Within passages 36 8.78

Pronoun = T/NT . 1 1.01 1.01 9.31 0.011
Error (a) : 11 1.19 0.11

Pronoun = S/0 1 0.53 0.53 1.46 0.251
Error (b) : 11 3.98 0.36

Pron = T/NT x S/0O 1 0.001 0.001 0.008 0.930
Error (ab) 11 2.07 0.19

Total 16.05

Significant main effect of pronoun referring to the topic
or nontopic (Pronoun = T faster).
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Table A 2.18 Mean reading rates (words per second) for

each passage by accuracy of response - Experiment 1,
unambiguous passages

Question answered

Passagej Correctly Incorrectly
1 maRy 3.2 3.6
2 JAMES 4.08 ' 3.82
3 CARL 3.68 3.75
4 SARAH 4.82 4.71
5 CLARE © 4.45 4.71
6 MR BENTLEY 4.11 4.48
7 HERB i 3.64 3.24
8 COLINZ 4.78 4.69
9 MR ROBERTS 3.97 5.79
10 PENNY 3.89 1.58
11 FIONA . 3.98 4.00
12 RORY 4.18 4.33

Overall mean 4.11 4.03
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Table A 2.19 Summary tables for the analyses of variance
of readlng rates by accuracy of response - Experiment 1,
unambiguous passages

Fy Analysis by readers

Source daf Sum of Mean Fq p
Squares Squares
Between readers 54 146.03
Within readers 55 39.18
Accuracy of response 1 0.64 0.64 0.90 0.65
Error 54 38.54 0.71

Total : 185.21

No significant effect.

F, Analysi§ by passages

Source at Sum of Mean . F, P
Squares Squares
Between passages 1l 9.18
Within passages _ 12 4.67
Accuracy of response 1 0.04 0.04 0.09 0.77
Error . 11 4.63 0.42
Total 13.85

No significant effect.

Only those readers who produced both correct and incorrect
reading rates were included in the Fy analysis (55 out of
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Table A 2.20 Mean verification rates for each passage by
response - Experiment 1, unambiguous passages

‘ Response

Passage TRUE FALSE
1 oMary 3.9 321

2 JAMES 4.81 4.66

3 1CARL 5.04 4.87

4 CLARE 3.40 2.95

5 'SHAUN 4.89 3.69

6 MR BENTLEY 2.76  2.84

7 HERB 4.18 4.36

8 COLIN 4.20 3.07

9 MR ROBERTS 3.29 3.56
10 PENNY 4.84 5.06
11 EIONA 4.46 4.09
12 RORY 5.72 4.77
“overall mean  4.28  3.93
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Table Ai2.21 Summary tables for the analyses of variance

of verification rates by response - Experiment 1,
' unambiguous passages

El Analysis by readers

Source af Sum of Mean Fi p
' Squares Squares
Between readers 118 188.52 |
Within readers 19 77.10
True / False 1 7.34 7.34 12.4 0.0009
Error ' 118 69.77 0.59
Total 265.62

Significant main effect of response ('true' faster than
'false'). "

Fy Analysis by passages

Source ‘ df Sum of Mean Fy P
Squares Squares
Between passages 11 13.68
Within passages 12 2.25
True / False 1 0.75 0.75 5.52 0.0369
Error , 11 1.50 0.14
Total 15.93

Significant main effect of response ('true' <faster than
'false'). ’



Table A 2.22 Mean verification rates for each passage by
condition and response - Experiment 1, unambiguous passages

Pronoun referred to

Topic Topic Nontopic Nontopic
Subject Ob ject Subject Object
Passage T F T F T F T F
1 MARY 3.68 3.57 3.85 2.99 3.63 3.53 3.98 2.39

2 JAMES  5.68 5.06 4.78 4.38 4.71 5.33 3.78 3.70
3 CARL 5.69 5.37 5.78 4.33 4.77 4.90 3.94 5.00
4 SARAH  4.21 3.31 3.32 2.29 2.8l 2.90 3.27 3.21
5 CLARE 5.08 4.02 5.11 3.23 4.55 3.44 4.83 3.96
6 MR BENT. 3.04 2.96 2.86 2.56 2.64 2.68 2.62 3.15
7 HERB @ 4.83 4.52 3.61 4.43 3.67 3.74 4.61 4.81
8 COLIN  4.61 2.90 3.39 3.17 4.83 3.38 3.91 2.89
9 MR ROB. 3.30 4.1l 3.15 2.81 3.67 4.16 3.06 3.25
10 PENNY  5.11 4.99 5.70 5.86 5.39 5.14 3.23 4.26

11 FIONA 4.53 3.56 5.49 4.83 5.17 4.78 2.96 3.27

12 RORY 4.87 3.67 5.35 4.76 6.71 5.56 5.92 5.18
Overall
means . 4.55 4.00 4.37 3.80 4.38 4,13 3.84 3.76

Overall means

across readers:
4.57 4.00 4.40 3.89 4.39 4.16 3.88 3.82

The means for readers were based on unequal sample sizes.

MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS
'true' response

L=
/]

'false' response



Table 522.23 F, summary table for the analysis of variance
of verification rates by condition and response -
Experiment 1, unambiguous passages

Source daf Sum of Mean Fy p
Squares Squares

Between passages 11 55.02

Within passages 84 38.57

Pronoun = T/NT 1 0.58 0.58 0.98 0.655
Error (a) 11 6.46 0.59

Pronoun = S/0 1 2.52 2.52 9.93 0.009
Error (b) 11 2.79 0.25

True / False 1 3.15 3.15 5.69 0.035
Error (c); il 6.09 0.55

Pron = T/NT x S/O 1 0.41 0.4l 0.43 0.529
Error (ab) : 11 10.37 0.94

Pron = T/NT x True/False 1 0.90 0.90 5.84 0.033
Error (ac) 11 1.69 0.15

Pron = S/0 x True/False 1 0.03 0.03  0.17 0.687
Error (bc)‘ 11 2.17 0.20

Pron = T/NT x S/0 x T/F 1 0.05 0.05 0.38 0.556
Error (abc) 11 1.37 0.12

Total 93.59

Significant main effects of pronoun referring to the
subject or object (Pronoun = S faster) and response ('true'
faster) and significant interaction between pronoun
referring to the topic or nontopic and response.



Table A 2.24 Assignments made in check on materials used

in Experiment 1

Number of assignments to
Passage SUBJECT OBJECT NEITHER
(ambiguous)

1 MARY 2 3

2 JAMES 2 2 1

3 JANE 5

4 SARAH 3 1 1

5 SHAUN 5

6 MR BENTLEY 4 1

7 HERBIE 5

8 DIANE ‘ 4 1

9 MR ROBERTS 4 1

10 SIMON 5

11 FIONA * 5

12 Roﬁy 2 3
rotal - a1 s T

*  The sentence fragment presented was 'Fiona waved at Anna
and she 'smiled ..'. The strong preference for object
assignments is probably due to the reciprocal nature of the
verbs (the action of waving usually elicits some response
and smiling is an appropriate response).
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Table A 2.25 Mean reading rates (words per second) for
each passage by condition and consistency of subject
assignment ' in check on materials - Experiment 1,
- unambiguous passages

Consistent subject assignment passages

Pronoun referred to

Topic Topic Nontopic Nontopic
Subject Object Subject Object
Passage
3 camn 433 3.83 3.0 3.50
5 CLARE 4.74 4.75 3.83 4.57
7 HERB 4.35 3.48 3.24 3.42
10 PENNY 4.23 3.43 4.66 3.00
“overall mean  4.41  3.87  3.71  3.62
Others
| Pronoun referred to
Topic Topic Nontopic Nontopic
Subject Object Subject Object
Passage
1 wary 3.9 3.9 sl 3.23
2 JAMES 4.31 3.96 4,38 3.56
4 SARAH 5.65 3.93 4.83 4.81
6 MR BENTLEY  4.16 4.64 3.75 4.19
8 COLIN 4.82 4,83 4.86 4.59
9 MR ROBERTS 1 4,34 4.05 4,24 3.51
11 FIONA T 3.39 4.46 3.65 4.43
12 RORY 4.32 4.83 4,08 3.52
“overall mean 4.3 4.27  4.2a  3.98



Table A 3. l Frequency of different §yntact1c ategorles

associated with the toplc, nontoplc, both the topic and the

nontopic and other characters in the first four sentences
of each passage used in Experiments 2 and 3

Syntactic category
1 S A AD AJ TR IN PS 0
Passage CHR

T 9 5 7 1 5 3 1 1
1 MARY NT 9 5 7 i 5 3 1 1
B 2
o) 2 1 1 1 1 1
T 10 5 7 1 7 3 1
2 JAMES NT 10 5 7 1 7 3 1
. B
0 5 .
T 6 2 5 2 3 3 2
3 JANE/CARL .NT 6 2 5 2 3 3 2
- B 3 1 3 2 1
0 1 1 3 1
T 10 5 8 2 7 3 2
4 SARAH NT 10 5 8 2 7 3 2
B
o) 7
T 12 5 5 1 7 4 1
5 SHAUN/CLARE NT 12 5 5 1 7 4 1
B 2
o) 7 2 1 6 1
T 12 9 6 8 3 3
6 MR BENTLEY NT 12 9 6 8 3 3
B 2
o) 3 4 3 2
T 10 7 7 5 5 2 1
7 HERBIE/HERB NT 10 7 7 5 5 2 1
B
o 2 2 3 2 3 3
T 10 4 4 1 6 4 2
8 DIANE/COLIN NT. 10 4 4 1 6 4 2
B 1
o} 5 1 1 5 5
T 9 5 8 1 5 4 3
9 MR ROBERTS NT' 9 5 8 1 5 4 3
B 1 i 1 1
o 3
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Table A 3.1 'Continued

Syntactic category
' S A AD AJd TR IN PS 0]
Passage : CHR

T 13 6 6 1 11 3 1
10 SIMON/PENNY NT 13 6 6 1 11 3 1

B

o} 1 7 1

T 8 4 5 1 6 2 2
11 FIONA " NT 8 4 5 1 6 2 2

B 1

0 2

T 6 2 6 3 3 3 1

12 RORY _NT 6 2 6 3 3 3 1

B

0 2 1 2 2 1 1

CHR = Character:
T = topic

NT = nontopic
B = both the topic and the nontopic
O = other character

! Syntactic categories:

S = subject
A = agent
AD = adverb
AJ = adjective |
TR = transitive verb
IN = intransitive verb
PS = possessive
0 = object
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Table A 3.2 Model of first four sentences of one of the
' passages used in Experiment 2

MARY
Sentence 1
* o . WHEN . +
'M———-left———-home the firm----promoted----M
¥t M-—--worked
(for firm)
ANQ SO*

Z;::;B;Q::::a flat ‘M----could walk
(noWw) (on the other side of town) (to 63;;:\?E§ery day)

Sentence 2

*M——/——get————the chance *iM----to go----home
I
(often) (anymore)
AND*
M----was
|
[sorryl
BECAUSE ..
M----missed---- °*M----visiting----J

Sentence 3
*J———-was————siéter
[yofinger] {M}

AND '

*J—-/——wantedr———*J+—--—to be left
| i
(really) (alone)
WHEN :
‘parents-—--went
I ‘
{M and J} (on holiday)
SO * o T ok
*J----went---- °“J----to see----M

(for the weekend)
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Table A 3.2 continued

Sentence 4
*J—-——was

(still) (at school)

AND*. | x.
*J----worked----"*J----to finish----homework
(hard) {J} [all]
SO THAT
*J----could relax
; (on S;turday)
KEY
M | Mary
J ] Jenny
* Subject of verb
: Agent of verb
-—--verb---—- Transitive verb
--—--verb | Intransitive verb
--/-=verb | Negates verb
( ) - Adverb (including prepositional phrases)
two or more adverbs occurring
3 counted as one
[ 1 | Adjective
AND, WHEN | Conjunction
} | Possessive
+

together

Object of verb (only counted when topic

nontopic is object of verb whose subject was
. not topic or nontopic (and therefore

counted as 'both')
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Table A 3.3 Experimental passages used in Experiment
2

The passages are presented in Condition A with the
sentences presented in Order X (T, NT, T, NT) and the
target sentence with the topic as subject (T = 8§). The
target sentence is underlined. The questions are presented
in Order 1 and the critical question with the topic as
subject (type a).

1 MARY
Mary had left home when the firm she worked for promoted
her and she now had a flat on the other side of town so she
could walk to work every day. Jenny was her younger sister
and didn't really want to be left alone when their parents
went on holiday so she went to see Mary for the weekend.
Mary didn't often get the chance to go home anymore and she
was sorry because she missed visiting Jenny. Jenny was
still at school and she worked hard to finish all her
homework so that she could relax on Saturday. Mary asked
Jenny to phone the theatre to see what was on when she

joined her for breakfast. There were only matinee tickets
left so they decided not to go.

Questions | Correct answer
1 Mary still lived at home. False
2 Jenny was a schoolgirl, True

3 Mary joined Jenny for breakfast.

2 JAMES

James had only been at school for two years but he was
already looking forward to being able to leave. Andrew was
in the same class and he had always liked going to school
because he was big and could easily bully the other
children- in his class. Young James tried to please his
teachers but he never seemed to get very good marks and
always seemed to be getting into trouble. Andrew was quite
intelligent so he usually managed to get good marks quite
easily even though he spent a lot of time making trouble.
James started fighting Andrew and he kicked him. The
teacher sent them both inside to see the headmistress.

Questions Correct answer
1 James had been at school ror seven years. False
2 Andrew usually got good marks. True

3 James kicked Andrew.

3 JANE
Jane went to a big comprehensive school where she was well
known because she was very good at all kinds of sport and
she had a lot of friends there. Monica and Jane had known
each other since they went to inrant school together and
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they had been friends ever since even though Monica had now
moved to a dlfferent area where she was very popular in her

school. All of Jane's family were interested in sport so
she had encouragement from home especially when she played
tennis. Monica also enjoyed playing sport and was well
known in her area as Jane's biggest rival. Jane often
played against Monica and she usually beat her. But it

didn't make any difference to their friendship.

Questions ) Correct answer
1 Jane hated' sport. False
2 Monica was popular at school. True

3 Jane usually beat Monica.

4 SARAH

Sarah had 1looked forward to leaving home and going to
University for a long time but untortunately she wasn't
very happy there. Her close friend Trish still lived at
home where shé had started a new job at the local hospital
and although she sometimes envied her friends she was
finding her job very rewarding. Sarah was quite shy and
always found it difficult to make new friends and although
superficially she seemed cheerful she often wondered
whether she had made the right decision about her future.
Trish didn't want an office job or to work in England and
eventually ' intended to go to work abroad but she wanted
some experience at home first. Sarah went to see Trish and
she told her what had been happening to her. They had a
lot to talk about.

Questions Correct answer
1 Sarah was finding it hard to settle down. True
2 Trish worked abroad. ~ False

3 Sarah told Trish what had been happening to her.

5 SHAUN

It was beginning to get dark and Shaun was starting to
worry a bit because he knew they still had quite a long way
to go before they got back to his minivan but he was the
only one who seemed concerned. Ben hadn't wanted to come
on this walking trip but he'd let his friends persuade him
‘because he was easy going and hadn't planned anything else
for that day and he'd decided he needed the exercise.
Shaun was quite used to walking in these hills and he knew
how easy it was to lose the path once it got dark. Ben
wasn't aware of how late it was getting because he was
engrossed in a conversation telling Shaun about meditation
but he suddenly stopped when he became aware that the path
narrowed over a steep drop. Shaun led Ben along the path
and he called to him to be careful. They got satfely across
and the others followed.
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Questions Correct answer
1 Shaun was worried. True

2 Ben had organised the walking trip. False
3 Shaun called to Ben to be careful.

6 MR BENTLEY

Mr Bentley was travelling to see his mother in Okehampton
and was driving his new car very carefully because he was
worried about driving it on the narrow Devon lanes. A man
had been following him for a -long time and was getting very
impatient because he was trying to hurry to get to his
friend's house for dinner. Mr Bentley was driving slowly
so he managed to stop the car in time when he found some
cows Dblocking the road but he thought they were. dangerous
so he got out of this car and stopped the man in the car
behind. The car driver had left the office late and had
underestimated how long it would take him to drive to his
friend's house so he thought he had better phone his friend
to warn him that he would arrive late. Mr Bentley talked
to the car driver and he told him that they wouldn't be
long The cows only had to go go into the next field.

Questions Correct answer
1 Mr Bentley was a careless driver. False
2 The car driver was in a hurry. True

3 Mr Bentley told the car driver that they wouldn't
have to wait long.

7 HERBIE

Herbie was quite certain his raid on the Drug Store would
succeed but unfortunately the owner was there and saw
Herbie as he arrived and although Herbie fired at him
slightly wounding him he set off the alarm. Jack had
joined the Police Force six months ago and tonight he
didn't feel well and was looking forward to going off duty
as he didn't get on with the driver of his car. Herbie
tried to get away quickly by forcing open the window
leading to the side street where he had parked a minute ago
but he hurt his ankle slightly as he Jjumped down. Jack
jumped when he heard the alarm from the Drug Store and he
leaped out of the car and ran over to the Store shouting to
his driver to cover him,. Herbie saw the policeman and he
shot at him. But this time nobody was hurt.

Questions ' Correct answer
1 Herbie was robblng a bank. False

2 Jack had been in the Police Force for six months. True
3 Herbie shot at the policeman.

38



8 DIANE

Diane was very keen on outdoor sports and would have 1loved
to go sailing but she couldn't afford a boat or lessons
while she was still at school. Nicola loved sailing and
was very pleased that her new house was close to several
reservoirs and she hoped her father would have more time to
take her sailing now that he had a different job. Diane
was pleased to see that her new neighbours had a sailing
dinghy and ‘'she soon called round to see Nicola who was
about her own age. Nicola was a bit apprehensive about
going to a new school but overall she was pleased to have
moved house. Diane liked Nicola straight away and she
asked her if she enjoyed sailing. They arranged to go
sailing that weekend.

Questions 4 Correct answer
1 Diane liked outdoor sports. True
2 Nicola wished she hadn't moved house. False

3 Diane asked Nicola if she enjoyed sailing.

9 MR ROBERTS

Mr Roberts didn't usually look forward to going away with
his family but this year he was unhappy and having problems
at work so he welcomed the break. Jonathan was really
pleased because he was going to the seaside for the first
time in his life and because he didn't have to go back to
school for another six weeks. Mr Roberts spent most of his
time on his own reading or walking when they went on
holiday but this year he spent much more time with his
children Jonathan and Caroline. Jonathan definitely wanted
to 1learn to swim and to use his new surfboard which he'd
just got for his birthday. Mr Roberts taught Jonathan how
to make a kite and he showed him how to make it fly

properly. By the end of the holzaay Mr Roberts felt much
happier.

Questions Correct answer
1 Mr Roberts was having problems at work. True

2 Jonathan didn't want to go to the seaside. False

3 Mr Roberts showed Jonathan how to make the kite
fly properly.:

10 SIMON
Simon had just left school and started working as a trainee
surveyor but he wasn't enjoying it very much because he
found the work difficult and found it hard to make his own
decisions. Geoff hadn't been working in the office for
very long and was still cautious although he was finding
the work a bit easier now and he made an effort to get to
know the others in his office. Simon was determined not to
appear unhappy and so he always made a great effort to
tackle new jobs .conscientiously and to seem cheerful and
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confident while he was at work. Geoff appeared to be an
extrovert and often played squash or went drinking with the
others in the office but this was because he felt shy and
insecure not because he felt confident. Simon knew Geoff
and he envied him. But he had no reason to.

Questions ' Correct answer
1 Simon had just started his first job. True
2 Geoff was very confident. False

3 Simon envied Geoff.

11 FIONA

Poor Fiona was fed up with feeling lonely and depressed at
home so she thought she would go for her favourite walk

down by the river. Anna was feeling miserable because she
had just broken off her engagement and was wondering
whether she had done the right thing. Fiona was trying to

decide who she could visit for a chat when she saw her
friend Anna in the distance. Anna couldn't stand being
with her over-sympathetic parents any longer so she'd come
out for a walk to think things over. Fiona waved at Anna
and she smiled at her. They were pleased to see each other
and walked on together.

Questions ' Correct answer
1 Fiona was feeling miserable on her own. True
2 Anna was married. False

3 Fiona smilgd at Anna.

12 RORY
Rory the Alsatian was very fierce - in fact everyone said
he was the most dangerous dog in the neighbourhood. Alfie
the poodle was usually very friendly and loved playing with
the children in the park near his house. Rory belonged to
a couple who were out at work all day and he often roamed
the streets on his own where he caused trouble by barking
fiercely at everyone. Although he was usually docile Alfie
hated some of the dogs in the area and he sometimes picked
fights with them. ory met Alfie on the street one day and
he bit him. Then he ran away as qulckly as he could.

Questions Correct answer
1 Rory was a gentle dog. False
2 Alfie liked playing with children. True

3 Rory bit Alfie.
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Table A: 3.4 Number of assignments to the subject and
object for each passage by condition - Experiment 2
Order X Order Y
: ' T S NT = S T =758 NT = S
Assignment

Passage to: ] 0 S 0] S 0 S 0]

1 omary ., 3 3 3 3 2 4 4 2
2 JAMES 6 0 5 1 4 2 3 3
3 JANE 5 1 6 0 6 0 5 1
4 SARAH 4 1 4 2 6 0 4 2
5 SHAUN 6 0 3 3 5 1 6 0
6 MR BENTLEY 4 2 1 5 3 3 4 1
7 HERBIE | 6 0 2 4 6 0 6 0
8 DIANE 5 1 5 1 6 0 5 1
9 MR ROBERTS 5 1 6 0 5 0 5 0
10 SIMON | 6 0 6 0 5 1 5 1
11 FIONA 1 5 6 0 5 1 33
12 RORY 4 2 6 0 6 0 6 0

Total 55 16 53 19 59 12 56 14

Overall means 4.6 1.3 4.4 1.6 4.9 1.0 4.7 1.2

Assignment to S = subject

Assignment to O

object
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Table A 3.5 Summary tables for the analyses of variance of
assignments by condition - Experiment 2

1

El Analysis by readers

Source df Sum of Mean Fi p
Squares Squares

Between reéders 23 0.42
Within readers . 168 127.50
Order X / ¥ 1 0.02 0.02 1.00 0.671
Error (a) 23 0.48 0.02
T=8S/NT =8 1 v.00 0.00 0.00
Error (b) . 23 0.50 0.02
Assignment iS/O) 1 136.69 136.69 158.68 0.000
Error (c) 23 19.81 0.86
Order x T / NT = S 1 0.02 0.02 1.00 0.329
Error (ab) - 23 0.48 0.02
Order x Assignment 1 1.33 1.33 2.52 0.123
Error (ac) 23 12.17 0.53
T / NT = S x Assignment 1 0.52 0.52 0.50 0.507
Error (bc) 23 23.98 1.04
Order x T/NT=S x Asst 1 0.00 0.00 0.00 0.996
Error (abc) 23 21.50 0.93
Total 217.92

Significant main effect of assignment (more to the
subject).
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Table 5{3.5 continued

Ey Analysis by passages

Source 1 ' df Sum of Mean F, p
- Squares Squares

Between ﬁassages 11 0.58
Within passages - 84 461.25
Order X /Y 1 0.04 0.04 0.65 0.557
Error (a) . il 0.71 0.06
T=S/NT =S8 1 0.00 0.00 0.00
Error (b) : 11 0.25 0.02
Assignment (S/0) 1 273.38 273.38 40.1¢ 0.000
Error (c) . 11 74.88 6.81
Order x T / NT = S 1 0.04 0.04 2.20 0.164
Error (ab) 11 0.21 0.02
Order x Assignment 1 2.67 2.67 1.19 0.298
Error (ac) : _ 11 24 .58 2.23
T / NT = S X Assignment 1 1.04 1.04 0.46 0.516
Error (bc) - 11 24.71 2.25
Order x T/NT=S x Asst 1 0.00 0.00 0.00 0.996
Error (abc) 11 58.75 5.34
Total 461.83

Significant ' main effect of assignment (more to the
subject).



Table A 3.6 Number of words in each target sentence of
each passage in Experiments 2 to 5

Péssage Number of words in target sentence
1 owary w0
2 JAMES 8
3 hANE/CARL 10
4 SARAH 15
5 éHAUN/CLARE 14
6 ﬁR BENTLEY ‘ 16
7 HERBIE/HERB 9
8 DIANE/COLIN 13
9 Mk ROBERTS 19
10 SiMON/PENNY 7
11 FiONA 9
12 RORY 12
“Range  1-19
Mean 12.5
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Table A 3.7 Mean reading rates (words per second) for each
passage by condition - Experiment 2

Order X Order Y
Passage T =8 NT = S T=2S8 NT = S
1 MARY 2.17 3.58 3.19 3.60
2 JAMES 2.19 2.89 2.82 2.08
3 JANE 3.17 3.57 3.73 3.57
4 SARAH 4,01 4.05 5.95 5.67
5 SHAUN 4.37 4.76 3.78 3.78
6 MR BENTLEY 5.09 2.80 4.96 2.98
7 HERBIE 3.74 3.93 4.54 4.13
8 DIANE 5.45 3.21 4.60 5.08
9 MR ROBERTS 5.61 4,27 4.86 5.93
10 SIMON 2.97 2.25 1.84 1.73
11 FIONA 5.15 3.51 3.15 2.45
12 RORY 4.56 4,28 4,73 2.87
Overall mean " 4.04 3.59 4,01 3.66
Order X Order Y
Sentence about Topic Sentence about Topic
Sentence about Nontopic Sentence about Nontopic
Sentence about Topic Sentence about Nontopic
Sentence about Nontopic Sentence about Topic

S Topic = subject of target sentence
S Nontopic = subject of target sentence

b
H
o
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Table A 3.8 Summary tables for the analyses of variance
of reading rates by condition - Experiment 2

gl Analysis by readers

Source daf Sum of Mean Fy P
Squares Squares

Between readers 23 171.73
Within readers 72 82.49

Order X / ¥ 1 0.07 0.07 0.004 0.952
Error (a) 23 39.75 1.73
T=S/NT =S8 1 3.86 3.86 6.78 0.015
Error (b) 23 13.07 0.57

Order x T / NT = S 1 0.05 0.05 0.04 0.832
Error (ab) 23 25.75 1.12
Total 254,22

Significant main effect of subject of sentence (T = S
faster)

Eg Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages 11l 35.71

Within passages 36 22.47

Order X / ¥ 1 0.004 0.004 0.005 0.941
Error (a) 11 8.26 0.75

T=8S/NT =S8 1 1.94 1.94 3.055 0.106
Error (b) 11 7.00 0.64

Order x T / NT = S 1 0.03 0.03 0.053 0.816
Error (ab) 11 5.24 0.48

Total 58.18

No significant effects
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Table A 3.9 Mean reading rates (words per second) for
each passage by condition and assignment - Experiment 2

Means calculated across order

Topic = Subject Nontopic = Subject
Assignment to: Subject Object Subject Object
Passage
1 mary 2.68 2.69 2.47 5.16
2 JAMES 2.58 2.17 2.72 2.03
3 JANE 3.55 2.41 3.38 5.64
4 SARAH 5.38 3.29 4.44 5.71
5 SHAUN 4.28 1.86 3.69 6.02
6 MR BENTLEY 5.19 4 .80 2.35 3.18
7 HERBIE 4.14 4.33% 3.85 4.38
8 DIANE 4.87 6.65 4,53 2.26
9 MR ROBERTS 5.04 8.20 4.82 5.99"
10 SIMON 2.51 1.21 1.88 3.16
11 FIONA 3.54 4.77 3.006 2.75
12 RORY 4.91 3.33 3.58 3.91%
overall means  4.06  3.81  3.40  4.18

* Calculated using Winer's formula
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Table A 3.10 Summary tables for the analyses of variance
of reading rates by condition for subject assignments only

- Experiment 2

Across order

El Analysis by readers

Source df Sum of Mean Fy p
Squares Squares
Between readers 23 79.90
Within readers 24 12.62
T=S/NT =S8 1 3.43 3.43 8.60 0.007
Error 23 9.18 0.40
Total 92.51
Significant main effect of subject of sentence (T = S
faster).
gg Analysis by passages
Source df Sum of Mean F, p
Squares Squares
Between passages 1l 18.57
Within passages 12 6.01
T=8S/NT =S8 1 2.60 2.60 8.37 0.014
Error 11 3.42 0.31
Total 24 .59
Significant main effect of subject of sentence (T = S
faster).
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Table A 3.1l Mean verification rates for each passage by
condition and response - Experiment 2

Across order

Topic = Subject Nontopic = Subject

Response: TRUE FALSE TRUE FALSE
Passage

1 omary 3.8 1.96 2.89  2.47
2 JAMES 3.77 3.45 3.19 4.71
3 JANE 4.86 4.29 5.43 4.07
4 SARAH 3.97 2.74 3.42 2.12
5 SHAUN 4.90 3.04 3.02 3.22
6 MR .BENTLEY 3.84 2.87 3.16 1.86
7 HERBIE 4.86 4.19 4.70 3.46
8 DIANE 4,72 3.26 3.15 3.92
9 MR ROBERTS 4.30 3.62 3.18 4.03
10 SIMON 5.60 2.60 4.17 2,67
11 FIONA 3.53 3.79 3.30 2.53
12 RORY 5.38 4.79 6.14 4.80

overall means  4.41  3.38 3.8 3.32
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Table A 3.12 Summary tables for the analyses of variance
of verification rates by condition and response -

Experiment 2

Across order

El Analysis by readers

Source daf Sum of Mean Fy p
Squares Squares

Between readers 23 123.11
Within readers 71* 62.68
T=S/NT =S8 1 0.41 0.41 0.66 0.569
Error (a) 23 14.20 0.62
True / False 1 8.73 8.73 10.13 0.004
Error (b) 23 19.81 0.86
T / NT = S x True / False l* 1.33 1.33 1.68 n.s.
Error (ab) 22 18.20 0.79
Total 185.80

* Degrees of freedom adjusted to take account of the use
of Winer's formula.

Significant main effect of response ('true' faster than
'false').

Eg Analysis by passages

Source df  Sum of Mean F, p
Squares Squares

Between passages 1l 24.53

Within passages 36 21.40

T=S/NT =S8 1 1.30 1.30 6.13 0.029
Error (a) 11 2.33 0.21

True / False 1 6.90 6.90 13.23 0.004
Error (b) 11 5.74 0.52

T/ NT = S x True / False 1 0.86 0.86 2.21 0.163
Error (ab) 11 4,27 0.39

Total 45.93

Significant main effects of subject of sentence (topic =
subject faster) and response ('true' faster than 'false').
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Table A 3.13 Order of questions used with filler passages -
Experiment 3

Filler passage number
1 2 3 4 5 6 7 8 910 11 12 13 14

Question order 3 4 5 6 1 2 3 4 5 6 1 2 3 4

Question type

Question order 1, 2,

N
-
w
-
HN WD W

3' 2,

about topic
general question
about topic and nontopic

Question type 1
Question type 2
Question type 3
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Table A 3.15 continued

Eg Analysis by passages

Source df  Sum of Mean F, p
Squares Squares

Between Qgssagés 11l 60.31

Within passages 84 29.98

Order X / Y 1 0.03 0.03 0.11 0.75
Error (a) N 11 3.14 0.29

Pronoun = T/NT 1 0.05 0.05 0.12 0.73
Error (b) il 4.43 0.40

Pronoun = S/0 1 0.61 0.61 2.18 0.17
Error (c) ' 11 3.06 0.28

Order x Pronoun = T/NT 1 0.28 0.28 0.49 0.50
Error (ab) 11 6.36 0.58

Order x Pronoun = S/0 1 0.00 0.00 0.00 0.98
Error (ac) 11 4,17 0.38

Pronoun = T/NT x S/0 1 0.79 0.79 1.84 0.20
Error (bc) 11 4,71 0.43

Order x Pron = T/NT x S/0 1 0.17 0.17 0.86 0.62
Error (abc) 11 2.18 0.20

Total 98.238

No significant effects.
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Table A 3.16 Mean reading rates (words per second) for
each passage by accuracy of response - Experiment 3

Question answered

Cor;ectly Incorrectly
Passage
_____ 1 mary  3.37  a.e6
2 JAMES 2.98 3.83
3 CARL 3.84 3.02
4 SARAH 3.56 4.64
5 CLARE 4.44 3.52
6 MR BENTLEY 3.09 4.01
7 HERB 2.92 3.42
8 COLIN 4.70 4.30
9 MR ROBERTS  3.97 3.74
10 PENNY 1.99 o 3.55
11 FIONA 5.64 4.76
12 RORY 4.34 4.23
————— overall mean  3.74 3.9
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Table A 3.17 Summary tables for the analyses of variance
of reading rates by accuracy of response - Experiment 3

El Analysis by readers

Source df Sum of Mean Fy o)
Squares Squares
Between readers 39 78.09
Within readers 40 27.93
Accuracy of response 1 3.42 3.42 5.43 0.024
Error 39 24.51 0.63

Significant main effect of accuracy ('incorrect' sentences
read faster).

Eg Analysis by passages

Source daf Sum of  Mean F, p
Squares Squares

Between passages 11 9.27

Within passages 12 4.80

Accuracy of response 1 0.34 0.34 0.83 0.61
Error 11 4.46 0.41

Total 14.07

No significant effect of accuracy of response.

Only the data from readers who produced both correct and
incorrect rates were included in the analyses.
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Table A 3.18 Mean correct verification rates for each
passage by condition - Experiment 3
Order X Order Y
Pronoun refers Topic Nontopic Topic Nontopic
to: S o S o) S o S 0
Passage
1 MARY 3.64 4.08 4.12 4.76 4.37 3.43 4.29 3.62
2 JAMES 4.49 3.78 4.50 3.34 3.56 6.40 5.82 3.22
3 CARL 5.05 4.57 4.66 4.28 3.73 5.95 4.24 4.11
4 SARAH 2.74 3.14 2,99 3.22 3.27 2.74 2.80 1.91
5 CLARE 3.11 3.00 3.24 4.26 3.40 3.39 3.88 4.87
6 MR BENT. 2.42 3.39 3.87 2.80 2.91 3.13 2.20 2.07
7 HERB 5.52 3.41 5.28 4.29 4.00 5.48 4.16 3.57
8 COLIN 3.91 3.30 4.20 2.37 4.36 3.44 5.36 3.13
9 MR ROB. 3.10 2.20 3.23 3.35 3.72 3.59 2.81 1.49
10 PENNY 4.21 3.69 3.22 3.53 4.85 3,21 4.02 3.95
11 FIONA 4.19 4.41 4.79 3.98 3.75 4.09 3.83 4.33
12 RORY 5.18 3.61 4.50 6.41 4.33 4.20 5.93 4.63
Overall
mean 3.96 3.55 4.05 3.88 3.85 4.09 4.11 3.41
MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS

Order X - Nontopic most recently mentioned
Order Y - Topic most recently mentioned

S
0

Subject
Object
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Table A 3.19 Summary tables for the analyses of variance
of verification rates by condition - Experiment 3

El Analysis by readers

Source df Sum ot Mean Fq o)
Squares Sqguares

Between readers 47 122.08

Order X / ¥ 1 0.21 0.21 0.08 0.775
Error (a) 46 121.87 2.65

Within readers 142% 131.04

Pronoun = T/NT 1 0.74 0.74 0.73 0.597
Pronoun = T/NT x Order 1 0.11 0.11 0.11 0.744
Error (b) 46 46.52 1.01

Pronoun = S/0 1 2.59 2.59 3.46 0.066
Pronoun = S/0 x Order 1 0.24 0.24 0.32 0.580
Error (c) 46 34.36 0.75

Pron = T/NT x S/0O 1 0.62 0.62 0.63 0.563
Pron = T/NT x S/0 x Order 1, 0.33 0.33 0.34 0.572
Error (bc) 44 45.53 0.99

Total 253,12

* Degrees of freedom adjusted to take account of use of
Winer's formula.

Marginally significant effect of pronoun rererring to the
subject or object (Pronoun = S faster).
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Table A 3.19 continued

EZ Analysis by passages

Source df Sum of Mean F, P
Squares Squares

Between passages 11l 41.69

Within passages 84 45.01

Order X/ ¥ i 0.00 0.00 0.00 0.97
Error (a) 11 3.99 V.36

Pronoun = T/NT 1 0.00 0.00 0.00 0.99
Error (b) 11 5.46 0.50

Pronoun = S/0 1 1.66 1.66 3.53 0.08
Error (c) 11 5.17 0.47

Order x Pronoun = T/NT 1 1.06 1.06 3.10 0.10
Error (ab) 11 3.77 0.34

Order x Pronoun = S/0 1 0.02 0.02 0.03 0.85
Error (ac) 11 6.10 0.55

Pronoun = T/NT x S/0O i 0.71 0.71 0.98 0.65
Error (bc) 11 8.00 0.73

Order x Pron = T/NT x S/0 1 2.10 2.10 3.33 0.09
Error (abc) 11 6.96 0.63

Total 86.70

Marginally significant effects of pronoun referring to the
subject or object (Pron = S faster) and interaction between
all three factors (order, pronoun referring to the topic or
nontopic and pronoun referring to the subject or object).
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Ratings of importance of target sentence for
condition - materials from Experiment 2

A

3.20
each passage by

Table

Condition
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Table A 3.20 continued

Rating
, 1 2 3 4 5
Passage Condition
A 2 0 1 2 0
11 FIONA B 0 0 3 1 1
C U 0 1 3 1
D i 1 1 0 2
A 1 0 2 2 0
12 RORY B i 0 2 2 0
C 0 2 1 1 1
D 0 1 i 3 0
Condition

A Order X T=2S8

B Order X NT = S

C Order Y T =S58

D Order Y NT = S

Order X Nontopic most recently mentioned
Order Y Topic most recently mentioned
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Table A 3.21 Mean ratings of importance of target sentence

by condition - materials from Experiment 2

Most recently mentioned

TOPIC NONTOPIC
(Order X) (Order Y)
R 320
3.20 3.28
""""" 3.39 3.8
unimportant 5 = very important
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Table A 3.22 Mean ratings of importance of target sentence
for each passage by condition - materials from Experiment 2

Across order

Topic = Subject Nontopic = Subject
Passage

1wy 2.80 2.30

2 JAMES 3.40 3.u0

3 JANE 3.30 3.50

4 SARAH 3.30 3.10

5 SHAUN 3.7V 3.50

6 MR BENTLEY 2.90 2.80

7 HERBIE 4.30 3.40

8 DIANE 3.50 3.80

9 MR ROBERTS 3.30 2.80

10 SIMON 3.20 3.50

li FIONA 3.3u 3.40

12 RORY 3.10 3.20
“overall mean  3.3a 319
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Table A 3.23 Summary tables for the analyses of variance
of ratings by condition - materials from Experiment 2

Across order

El Analysis by readers

Source df Sum of Mean Fq p
Squares Squares
Between readers i9 71.54
Within readers 20 5.66
T=S/NT =S5 i 0.03 0.03 0.11 0.74
Error 19 5.63 0.30
Total 13.20

No significant eiffect.

Eg Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages 11 2.77

Within passages 12 0.90

T=S/NT =S5 1 0.14 0.14 1.94 0.19
Error 11 0.77 0.u7

Total 3.67

No significant effect.
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Table A 3.24 Number of times the topic, the nontopic or
neither was chosen as the most important person for each
passage by condition - materials from Experiment 2

Order X Order Y

Passage MIP T =S NT = S T =S8 NT = S
T 3 0 1 0
1l MARY NT 1 0 1 1
N 1 4 3 4
T 1 2 2 0
2 JAMES NT 0 2 2 1
N 4 1 1 3
T 0 i 2 0
3 JANE NT 1 0 U 0
N 3 4 2 4
) T 0 1 2 2
4 SARAH NT 0 1 1 1
N 4 2 2 2
T 3 4 2
5 SHAUN NT 0 1 0 1
N 2 4 1 2
T 3 2 3 2
6 MR BENTLEY NT 0 0 1 0
N 2 2 1 3
T 4 3 3 4
7 HERBIE NT 1 1 2 1
N 0 0 0 0
T 0 0 0 3
8 DIANE NT 2 3 0 0
N 3 1 5 1
T 3 1 5 3
9 MR ROBERTS NT 1 2 U 1
N 1 1 0 1
T 1 1 0 3
10 SIMON NT 0 1 2 0
N 4 3 3 2
T 1 0 1 0
11 FIONA NT 1 0 2 1
N 2 5 2 3
T 0 1 1 0
12 RORY NT 1 1 1 2
N 3 2 3 3

MIP = most important person, T = topic, NT = nontopic, N =
neither, S = Subject. .



Table A 3.25 Frequency with which the topic or the
nontopic was chosen as the most important person for each
passage by condition - materials from Experiment 2

Across order

Topic = Subject Nontopic = Subject

Most important person: T NT T NT
Passage
1 mary s 2 o 1
2 JAMES 3 2 2 3
3 JANE 2 1 1 0
4 SARAH 2 1 3 2
5 SHAUN 7 0 2 2
6 MR BENTLEY 6 1 4 0
7 HERBIE 7 3 7 2
8 DIANE U 2 3 3
9 MR ROBERTS 8 i 4 3
10 SIMON 1 2 4 1
11 FIONA 2 3 v 1
12 RORY 1 2 1 3
overall mean 5.6 1.7 2.6 1.8
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Table A 3.26 Summary tables for the analyses of variance
of Jjudgements of most important person by condition -
materials from Experiment 2

Across order

El Analysis by readers

Source df Sum of Mean Fy p
Squares Squares

Between readers i9 16.44

Within readers 60 103.25

T=8S/NT =S8 1 1.51 1.51 2.02 0.17
Error (a) 19 14.24 0.75

T / NT as MIP 1 13.61 13.61 5.86 0.02
Error (b) 19 44.14 . 2.32

T / NT = S x MIP 1 2.11 2.11 1.45 0.24
Error (ab) 19 27.64 1.45

Total 119.69

Significant main errect of T / NT as most 1important person
(topic chosen more often than nontopic).

Eg Analysis by passages

Source df Sum of Mean F, o)
Squares Squares

Between passages il 49.73

Within passages 36 129.75

T=S8,/NT =S8 1 2.52 2.52 1.34 0.27
Error (a) 11 20,73 1.88

T / NT as MIP 1 22.69 22.69 4.66 0.05
Error (b) 11 53.56 4.87

T / NT = S x MIP 1 3.52 3.52 1.45 0.25
Error (ab) 11 26.73 2.43

Total 179.48

Significant main effect of T / NT as most important person
(topic chosen more otften than nontopic).
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3.27

A

Table

Ratings of importance of target sentence for

3

condition - materials from Experiment

each passage by

Condition
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continued

3.27

Table A

Condition

Passage
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Table A 3.27 continued

Rating
1 2 3 4 5
Passage Condition
A 1 0 1 1 2
B 1 0 3 i 0
C 1 0 1 3 0
11 FIONA D 1 0 2 2 0
E 0 2 0 3 0
F 0 1 1 2 i
G 1 1 1 2 0
H 1 0 1 2 1
A 1 1 2 0 1
B 2 0 3 0 0
C 0 i 1 1 2
12 RORY D 0 2 2 0 1
E 0 0 4 1 0
F 2 0 2 1 0
G 0 3 1 1 0
H 2 2 1 0 0
Condition
Order

A X TS

B X TO

C X NTS

D X NTO

E Y TS

F Y TO

G Y NTS

H Y NTO
Order X = Nontopic most recently mentioned

Order Y = Topic most recently mentioned
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Table A 3.28 Mean ratings of importance of target sentence
by condition - materials from Experiment 3

Topic as most recently mentioned character (Order Y)

Pronoun referent TOPIC NONTOPIC X
" susgcr 2.17 2.82  2.80
OBJECT 3.05 2.80 2.93
S = 2.91 2.8

Nontopic as most recently mentioned character (Order X)

Pronoun referent TOPIC NONTOPIC X
7 susgEcr 3.05 2.80 2.93
OBJECT 2.80 2.97 2.89
S = 2,93 2.8
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Table A 3.29 Mean rating of importance of target sentence
for each passage by condition - materials from Experiment 3

Across order

Pronoun referred to

Topic Topic Nontopic Nontopic
Subject Object Subject Object
Passage
1 MRy 2.00 2.10 a0 2.30
2 JAMES 2.80 2.40 -~ 3.20 3.20
3 CARL _ 3.00 3.30 3.30 2.70
4 SARAH 2.80 3.40 2.60 2.70
5 CLARE - 3.20 3.00 3.20 2.60
6 MR BENTLEY  2.50 2.20 1.60 2.60
7 HERB . 3.70 3.90 3.40 3.30
8 COLIN 2.80 3.50 2.80 3.50
9 MR ROBERTS  2.80 2.90 2.40 3.20
10 PENNY 2.90 2.90 3.60 2.90
11 FIONA 3.40 3.20 3.00 3.20
12 RORY 3.00 2.30 3.20 2.40
“overall mean  2.91  2.93  2.81 2.8

72



Table A 3.30 Summary tables for the analyses of variance
of ratings by condition - materials from Experiment 3

Across order

El Analysis by readers

Source dt Sum of Mean Fy o)
Squares Squares

Between readers 39 47.04

Within readers 120 58.17

Pronoun = T/NT 1 0.23  0.23 0.49 0.50
Error (a) 39 i8.u6 0.46

Pronoun = S/0 1 0.07 0.07 0.13 v.72
Error (b) 39 21.53 0.55

Pronoun = T/NT x S/0O 1 0.03 .03 0.05 0.81
Error (ab) 39 18.26 0.47

Total 105.21

No significant erfects.

Eg Analysis by passages

Source df Sum of Mean F, o)
Squares Sqguares

Between passages 11 8.28

Within passages 36 4.45

Pronoun = T/NT 1 0.06 0.06 0.63 0.55
Error (a) 11 1.06 0.10 :

Pronoun = S/0 1 v.03 0.03 0.13 0.72
Error (b) 11 2.07 0.19

Pronoun = T/NT x S/0 1 0.01 0.04 0.09 '0.76
Error (ab) 11 1.23 0.11

Total 12.73

No significant effects.
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Table A 3.31 Number of times the topic, the nontopic. or
neither was chosen as the most important person for each

passage by condition - materials from Experiment 3
Order X Order Y
Pronoun referred Topic Nontopic Topic Nontopic
to: S o s 0 S 0 S 0
Passage MIP

T 2 0 1 1 4 3 2 5

1 MARY NT 1 0 1 3 0 0 1 0
N 2 5 3 1 1 1 2 0

T 2 1 1 2 3 0 2 3

2 JAMES NT 0 0 2 1 0 2 1 0
N 3 4 1 2 2 3 1 2

T 2 2 1 2 2 1 1

3 CARL NT © O 0 0 0 0 0 0 1
N 3 3 4 3 2 3 3 3

T 2 2 1 4 2 1 1 1

4 SARAH NT 0 1 2 0 0 3 1 1
N 3 .2 2 1 3 1 3 2

T 5 1 1 2 2 3 3 1

5 CLARE NT 0 2 1 2 0 0 1 2
N 0 2 3 1 3 2 1 2

T . 2 1 4 5 3 2 2 4

6 MR BENTLEY NT 0 3 1 0 0 0 U 0
N 3 1 0 0 2 3 3 1

T 1 2 3 2 1 0 2 3

7 HERB NT 1 2 1 0 1 1 2 1
N 3 1 1 3 3 4 i 1

T 1 1 0 0 1 2 1 0

8 COLIN NT =~ 1 1 2 1l 1 1 2 1
N 3 3 3 4 3 2 2 3

T 3 3 i 3 3 2 0 1

9 MR ROBERTS NT = O 0 2 0 0 1 4 1
N 2 2 2 2 2 2 1 3

T 2 3 0 3 3 0 0 0

10 PENNY NT 1 0 1 0 L 1 2 1
N 2 2 4 2 1 4 3 4

T 0 1 0 0 1 0 1 1

11 FIONA NT 1 0 1 1 1 0 0 1
N 4 4 4 4 2 5 4 3

T 2 2 1 1 4 0 0 2

12 RORY NT 0 0 2 1 0 0 2 0
N 3 3 2 3 1 5 3 3

(MIP = most important person)
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Table A 3.32 Frequency with which the topic or the
nontopic was chosen as the most important person for each
passage by condition - materials from Experiment 3

Across order

Pronoun referred to

Topic Nontopic
" Subject Object Subject . Object

Most i1mportant
. person: T NT T NT T NT T NT
Passage '

L maRY 6 1 3 o 3 2 & 3

2 JAMES s o 1 2 3 3 5 1

3 CARL 4 0 3 0 3 0 3 1

4 SARAH 4 0 3 4 2 3 5 1

5 CLARE 7 0 4 2 4 2 3 4

6 MR BENTLEY 5 0 3 3 6 1 9 0

7 HERB 2 2 2 3 5 3 5 1

8 COLIN 2 2 3 2 1 4 0 2

9 MR ROBERTS 6 0 5 1 1 6 4 1

i0 PENNY 5 2 3 1 0 3 3 1
11 FIONA 1 2 1 0 1 1 1 2
12 RORY 6 0 2 0 1 4 3 1
overall mean 4.4 0.8 2.8 1.5 2.5 2.7 3.9 1.5
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Table A 3.33 Summary tables for the analyses of variance
of judgements of most important person by condition -
materials from Experiment 3

Across order

El Analysis by readers

Source dat Sum of Mean Fq p
Squares Squares

- — — — —— ——————— o —— ——— - _— — . —— ———————— A —————— A —————— —

Between readers 39 32.5

Within readers 280 175.50

Pronoun = T/NT 1 0.61 V.61 2.42 0.12
Error (a) 39 9.89 0.25

Pronoun = S/0 1 0.20 0.20 0.63 0.56
Error (b) 39 12.30 0.31

T/NT as MIP 1 23.11 23.11 38.54 0.00
Error (c) 39 23.39 0.60

Pronoun = T/NT X S/0 1 0.61 0.61 1.34 0.25
Error (ab) 39 17.89 0.46

Pronoun = T/NT x MIP 1 3.20 3.20 6.15 0.02
BError (ac) 39 20.30 0.52

Pronoun = S/0 x MIP 1 0.01 0.01 0.03 0.86
Error (bc) 39 16.49 U.42

Pron = T/NT x S/0 x MIP 1 1li.25 11.25 12.10 0.002
Error (abc) 39 36.25 0.93

Total 208.00

Signiricant main eiffect of T/NT as the most important
person (topic chosen more often than the nontopic) and
signiricant interactions between the pronoun referring to
the topic or nontopic and choice or MIP and between pronoun
referring to the topic or nontopic, the subject or object
and choice of MIP.
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Table A 3.33 continued

Eg Analysis by passages

Source

Between passages

Within passages

Pronoun = T/NT
Exror (a)

Pronoun = S/0
Error (b)

T/NT as MIP
Error (c)

Pronoun = T/NT x S/0
Error (ab)

Pronoun = T/NT x MIP
Error (ac)

Pronoun = S/0 x MIP
Error (bc)

Pron = T/NT x S/0 x MIP

Error (abc)

Sum of
Squares

77.04
50.46

2.04
15.96

10.67
53.33

0.04a
16 .46

37.50
29.50

Mean

Squares

0.64

0.002

0.26

354.00

Significant main effect of T/NT as most important person
(topic chosen more often than the nontopic) and significant
interaction between pronoun referring to the topic or
nontopic, the subject or object and MIP.
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Table A 3.34 Assignments made in check on materials used

in Experiment 2

Number of assignments to

SUBJECT OBJECT NEITHER
Passage (ambiguous)
1 maRy o4 1
2 JAMES 2 3
3 JANE 5
4 SARAH 5
5 SHAUN 4 1
6 MR BENTLEY 5
7 HERBIE 5
8 DIANE 5
9 MR ROBERTS 5
L0 SIMON 5
11 FIONA * 5
12 RORY 5
Ctotar s0 8 2

* Preference for object assignments probably due to
reciprocal nature of verbs in this sentence.
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Table A 3.35 Mean reading rates (words per second) for
each passage by condition and consistency of subject
assignment in check on materials - Experiment 2

Across order

Consistent subject assignment passages

Topic = Subject Nontopic = Subject

Passage
3 oo 3.as 3.57
4 SARAH 4.98 4,86
6 MR BENTLEY 5.03 2.90
7 HERBIE 4.14 4.03
8 DIANE 5.02 4.15
9 MR ROBERTS . 5.23 5.10
10 SIMON 2,41 1.99
12 RORY 4.65 3.58
" overall mean 4.3 3.7
Others
Topic = Subject Nontopic = Subject
Passage
1 way 2.68 3.5
2 JAMES 2.51 2.48
5 SHAUN 4.07 4.27
11 FIONA 4.15 2,98
overall mean  3.35 3.3
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Table A 4.1

object in each passage by condition - Experiment 4

Number of assignments to the subject

and

Assignment
Passage to:

Order Y
S T=2S8 NT

2 JAMES

3 JANE

4 SARAH

5 SHAUN

6 MR BENTLEY
7 HERBIE

8 DIANE

9 MR ROBERTS
10 SIMON

11 FIONA

Overall mean

Order X
S NT
0 S
1 4
1 6
1 6
2 5
0 3
1 3
0 4
2 6
0 6
0 6
2 4
V) 6
0.8 4.9

= NT most recently mentioned
= T most recently mentioned

Order X

Order Y
T =S8 Topic
NT = S Nontopic

Subjec
Subjec

Assignment to S
Assignment to O
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Table A 4.2 Summary tables for the analyses of variance of
assignments by condition - Experiment 4

El Analysis by readers

Source daf Sum of  Mean F1 p
Squares Sqgquares

Between readers 23 V.00

Within readers 168 272.03

Order X / Y 1 0.00 0.00 1.00 0.33
Error (a) 23 0.00 0.00

T=S,/NT =S8 1 0.00 0.00 1.00 0.33
Error (b) 23 V.00 0.00

Assignment (S/0) 1 216.77 216.77 289.05 0.00
Error (c) 23 17.25 0.75

Order x T / NT = 8 1 0.00 0.00 1.00 0.67
Error (ab) 23 0.00 0.00

Order x Assignment 1 0.33 0.33 0.49 0.50
Error (ac) 23 15.68 0.68

T / NT = S X Assignment 1 0.00 0.00 0.00 0.99
Error (bc) 23 12.00 0.52

Order x T/NT=S x Asst 1 0.75 0.75 0.87 0.18
Error (abc) 23 9.25 0.40

Total 272.03

Significant main effect of assignment (more to the subject).
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Table A 4.2 continued

Eg Analysis by passages

Source daf Sum of Mean F, P
Squares Squares

Between passages 11 0.00

Within passages 84  548.02

Order X / ¥ 1 0.00 0.00 1.00 0.34
Error (a) 11 0.00 0.00

T=S8/ NT =8 1 0.00 0.00 1.00 0.34
Error (b) 11 0.00 0.00

Assignment (S/0) 1  433.54 433.54 94.42 0.00
Error (c) 11 50.51 4.59

Order x T / NT = S 1 0.00 0.00 1.00 0.66
Error (ab) il 0.00 0.00

Order x Assignment 1 0.67 0.67 0.66 0.56
Error (ac) 11 11.33 1.03

T / NT = S x Assignment 1 0.00 0.00 0.00 0.99
Error (bc) 11 31.99 2.91

Order x T/NT=S x Asst i 1.50 1.50 0.89 0.63
Error (abc) 11 18.49 1.68

Total 548.02

Significant main eiffect of assignment (more to the
subject).
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Table A 4.3 Mean reading rates (words per second) for each
passage by condition - Experiment 4

Order X Order Y
Passage T =8 NT = S T=2S5 NT = S
1 wary  2.42 5.4 2.26  2.85
2 JAMES 2.64 2.03 1.87 3.12
3 JANE 3.25 3.32 3.21 3.89
4 SARAH 5.66 3.38 4.76 3.67
5 SHAUN 3.08 2.98 4,85 3.06
6 MR BENTLEY 3.93 2.66 4.92 3.38
7 HERBIE 3.75 4,18 3.95 6.61
8 DIANE 5.44 3.12 4.03 4.01
9 MR ROBERTS 4.79 3.00 4.67 3.87
10 SIMON 3.00 1.91 2.90 1.97
11 FIONA 4,10 3.86 2.64 5.33
12 RORY 4.79 3.48 3.95 2.47
overall mean  3.90  3.26 3.67 3.69
Order X = Nontopic most recently mentioned
Order Y = Topic most recently mentioned
T =8 Topic as subject of target sentence
NT = S Nontopic as subject of target sentence
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Table A 4.4 Summary tables for the analyses of variance of
reading rates by condition - Experiment 4

El Analysis by readers

Source df Sum of Mean Fy p
Squares Squares

Between readers 23 131.67

Within readers 72 70.03

Order X / Y 1 0.14 0.1l4 0.26 0.62
Error (a) 23 12.84 0.56

T=S/NT =S8 1 2.11 2.11 3.35 0.077
Error (b) 23 14.49 0.63

Order x T / NT = S 1 2.95 2.95 1.81 0.19
Error (ab) 23 37.49 0.63

Total 201.71

Marginally significant main effect of subject of sentence
(T = S faster).

Eg Analysis by passages

Source daf Sum of Mean F, p
Squares Squares

Between passages 1l 21,19

Within passages 36 32.81

Order X / ¥ 1 0.11 0.11 0.21 0.66
Error (a) 11 5.96 0.54

T=S/ NT =8 1 1.19 1.19 0.76 0.59
Error (b) 11 17.39 0.58

Order x T / NT = S 1 1.34 1.34 2.i16 0.17
Error (ab) 11 6.81 0.62

Total 54.00

No significant main effects.
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Table A 4.5 Mean reading rates (words per second) for each
passage by condition and assignment - Experiment 4

Means calculated across order

Topic = Subject Nontopic = Subject
Assignment to: Subject Object Subject Object
Passage
1 mary 192 3.8 3.96  4.16
2 JAMES 2.14 2.59 2.58
3 JANE 3.18 3.75 3.61
4 SARAH 4.76 7.49 3.71 1.45
5 SHAUN 3.78 4,92 3.15 2.84
6 MR BENTLEY 4.84 2.34 2.79 3.48
7 HERBIE 3.85 5.76 3.58
8 DIANE 5.57 3.46 3.77 1.92
9 MR ROBERTS 4,73 3.44
10 SIMON 2.95 1.94
11 FIONA 3.42 3.22 4.73 4.47
12 RORY 4,37 2.97
overall mean  3.79  3.87  3.53  3.13
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Table A 4.6 Summary tables for the analyses of variance of
reading rates by condition for subject assignments only -
Experiment 4

Across order

El Analysis by readers

Source df Sum of  Mean Fi p
Squares Squares

Between readers 23 70.96

Within readers 24 9.89

T=S/NT =S8 1 1.82 1.82 5.19 0.03
Error 23 8.07 0.35

Total 80.85

Significant main eifect of subject of sentence (T = 8§
faster).

Eg Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages 11l 13.66

Within passages 12 11.75

T=8S/NT =S5 1 0.40 0.40 0.39 0.55
Error 11 11.34 1.03

Total 25.41

No significant effect.
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Table A 4.7 Mean verification rates for each passage by
condition and response - Experiment 4

Across order

Topic = Subject Nontopic = Subject

Response TRUE FALSE TRUE FALSE
Passage
1 wary 2.66 133 2.48 2.66
2 JAMES 3.17 2,91 3.87 3.28
3 JANE 3.59 3.30 4.48 3.71
4 SARAH 2.88 2.17 3.16 1.36
5 SHAUN 2.43 2.28 2.20 2.39
6 MR éENTLEY 3.63 1.82 2.60 2,03
7 HERBIE 3.76 3.53 3.32 4,58
8 DIANE 3.31 1.63 2.48 2.34
9 MR ROBERTS 3.31 2.87 2.39 3.87
10 SIMON 4,03 2.15 4.99 2.70
11 FIONA 3.50 1.39 3.67 2.54
12 RORY 4,91 2.81 4.66 3.79
overall mean 3.43  2.35  3.36  2.94
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Table A 4.8 Summary tables for the analyses of variance
of verification rates by condition and response -
Experiment 4

Across order

El Analysis by readers

Source df Sum of Mean F, p
Squares Squares

Between readers 23 44.28

Within readers 68%  47.42

T=S/NT =S58 1 1.16 1.16 3.34 0.077
Exrror (a) . 23 8.01 0.35

True / False 1 8.04 8.04 14.62 0.001
Error (b) 23 12.65 0.55

T / NT = S x True / False l* 2.65 2.65 4,09 0.052
Error (ab) 19 14.90 0.65

Total 91.71

* Degrees of freedom adjusted to take account of the use
of Winer's formula.

Significant main effect of response ('true' faster than
'false'), marginally significant main effect of subject of
sentence (NT = S faster) and marginally significant
interaction between subject of sentence and response.

Eg Analysis by passages

Source daf Sum of Mean F, o)
Squares Squares

Between passages 11 18.28
Within passages 36 20.94
T=S8,/ NT =8 1 0.80 0.80 5.08 0.044
Error (a) 11 1.72 0.L6
True / False 1 6.78 6.78 9.89 0.009
Error (b) 11 7.54 0.69

T / NT = S x True / False 1 1.31 1.31 5.19 0.042
Error (ab) 11 2.78 0.25
Total 39.22

Significant main effects of T / NT = S (NT = S faster) and
response ('true' faster than ‘'false') and significant
interaction between subject of sentence and response.
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Table A 4.9 Mean reading rates (words per second)

for

each passage by condition - Experiment 5

Order X Order Y
Pronoun refers Topic Nontopic Topic Nontopic
to: S o S (0] S 0 ] 0]

Passage

1 MARY  3.26 3.63 4.08 3.24 3.60 3.33 3.91 3.50

2 JAMES 3.36 2.96 2.80 2,97 3.58 2.65 3.10 3.28

3 CARL 3.88 3.62 4.34 3.10 3.66 3.98 3.35 4.00

4 SARAH 4.45 4,03 3.68 4.58 4.57 4.29 4.01 4.38

5 CLARE 4.64 4.19 5.64 3.31 4.80 4.58 5.75 3.22

6 MR BENT. 3.92 3.45 3.33 2.87 4.80 2.03 3.67 3.06

7 HERB 3.81 2.17 3.00 2.60 3.02 3.29 2.94 2.51

8 COLIN 4,14 2.98 3.28 3.81 3.21 4.03 4.13 2.95

9 MR ROB. 4,20 4.44 4.66 3.02 4.70 3.04 5.68 2.60
10 PENNY 2.83 1.97 2.78 1.81 4,05 2.28 2.33 2.22
11 FIONA 4.05 2.28 2.33 2.22 4.40 4.10 3.77 4.60
12 RORY 4.73 4.55 3.82 4.58 3.88 4.23 4.92 4.42
overals
mean 3.97 3.51 3.77 3.37 4.00 3.56 3.95 3.53

MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS
Order X Nontopic most recently mentioned

Order Y Topic most recently mentioned

S = Subiject
0 = Object
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Table A 4.10 Summary tables for the analyses of wvariance
of reading rates by condition - Experiment 5

El Analysis by readers

Source : dt Sum of Mean Fq p
Squares Squares

Between readers 47  159.24

Order X/Y 1 0.49 0.49 0.14 0.71
Error (a) 46 158.75 3.45

Within readers 144 115.71

Pronoun = T/NT 1 0.59 0.59 1.28 0.26
Pronoun = T/NT x Order 1 0.17 0.17 0.36 0.56
Error (b) 46 21.25 0.46

Pronoun = S/0 1 8.21 8.21 8.78 0.005
Pronoun = S/0 x Order 1 0.006 0.006 0.007 0.93
Error (c) 46 43.05 0.94

Pronoun = T/NT x S/0O 1 0.06 0.06 0.07 0.80
Pron = T/NT x S/0 x Order 1 0.00 0.00 0.00 0.99
Error (bc) 46 42 .37 0.92

Total 274.95

Significant main efrect of pronoun referring to the subject
or object (pronoun = subject faster).
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Table A 4.10 continued

Eg Analysis by passages

Source daf Sum of Mean F, p
Squares Sqguares

Between passages 11 37.20

Within passages 84 34.86

Order X/Y 1 0.27 0.27 4.36 0.058
Error (a) 11 0.69 0.06

Pronoun = T/NT 1 0.27 0.27 3.24 0.097
Error (b) 11 0.91 0.08

Pronoun = S/0 i 4,35 4,35 4,19 0.063
Error (c) 11 11.44 1.04

Order x Pronoun = T/NT i 0.10 0.10 0.74 0.59
Error (ab) 11 1.41 0.13

Order x Pronoun = S/0 1 0.00 0.00 0.00 0.996
Error (ac) 11 4.64 0.42

Pronoun = T/NT x S/0 1 0.01L V.01 0.02 0.88
Error (bc) 11 6.68 0.61

Order x Pron = T/NT x S/0 1 0.00 0.00 0.01 0.93
Error (abc) 11 4.10 0.37

Total 72.07

Marginally significant main effects of order (Order Y
faster), pronoun referring to the topic or the nontopic
(pronoun = T faster) and pronoun referring to the subject
or the object (pronoun = S faster),
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Table A 4.11 Mean reading rates (words per second ) for
each passage by accuracy of response - Experiment 5
Question answered
Correctly Incorrectly
Passage
""" 1 mary 3.5 3.68
2 JAMES 3.11 3.25
3 CARL 3.72 4.42
4 SARAH 4.13 4.64
5 CLARE 4.30 5.90
6 MR BENTLEY 3.38 3.55
7 HERB 2.83 3.36
8 COLIN’ 3.65 3.42
9 MR ROBERTS 4.07 4.20
10 PENNY 2.65 1.81
11 FIONA 4.54 4.39
12 RORY 4.47 4.65
" overall mean  3.70 3.8
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Table A 4.12 Summary tables for the analyses of variance
of reading rates by accuracy of response - Experiment 5

El Analysis by readers

Source af Sum of Mean Fi, p
” Squares Squares

Between readers 42 123.58

Within readers &3 39.36

Accuracy of response 1 0.20 0.20 0.22 0.65
Error 42 39.16 0.93

Total 162,94

No significant efrect.

EE Analysis by passages

Source df Sum of Mean F, P
Squares Squares

Between passages 1i 13.60

Within passages 12 2.24

Accuracy of response 1 0.35 0.35 2.00 0.18
Error 11 1.90 0.17

Total 15.84

No significant effect.

The data from five readers were excluded from both analyses
because of missing data.
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Table A 4.13  Mean correct verification rates for each
passage by condition - Experiment 5
' Order X Order Y
Pronoun refers Topic Nontopic Topic Nontopic
to: S o) S 0 S o S 0]
Passage
1 MARY 4,71 4.20 5.09 4.19 4.49 3.29 3.88 3.46
2 JAMES 4.96 4.66 5.57 5.01 4.45 4.04 5.53 3.26
3 CARL 4,93 5.33 5.11 4.39 4.28 5.90 4.58 3.49
4 SARAH 2.8 2.06 3.15 1.86 3.18 3.32 2.98 1.78
5 CLARE 2.95 3.18 4.91 3.40 3.37 4.27 4.26 3.97
6 MR BENT. 2.51 2.96 2.54 2.1i 3.28 1.63 2.51 2.32
7 HERB 4.03 4.26 3.99 2.82 3.91 3.49 4.54 2.94
8 COLIN 2.86 3.24 2.75 3.08 3.68 2.78 3.01 2.63
9 MR ,ROB. 3.65 3.52 2.81 2.62 2.90 3.06 2.35 2.34
10 PENNY 3.92 3.13 4.07 3.70 5.48 2.14 4.43 4.87
11 FIONA 4.36 3.47 3.67 4.47 3.91 4.25 3.92 4.54
12 RORY 4.98 4.48 5.07 4.69 4.59 3.99 4.76 4.10
Overall :
mean 3.90 3.71 4.06 3.53 3.96 3.51 3.90 3.31
MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS
Order X = Nontopic most recently mentioned
Order Y = Topic most recently mentioned

S =
0O =

-Subject
Object
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Table A 4.14 Summary tables for the analyses of variance
of verification rates by condition - Experiment 5

E; Analysis 92 readers

. Source ‘ af Sum of Mean Fy P
Squares Squares

Between readers 47 87.48

Order X/Y 1 0.74 0.74 0.41 0.533
Error (a) 46 83.74 1.82

Within readers 142% 119.19

Pronoun = T/NT 1 0.05 0.05 0.08 0.781
Order x Pronoun = T/NT 1 0.85 0.85 1.26 0.268
Error (b) : 46 30.97 0.67

Pronoun = S/0 1 8.48  8.48 7.78 0.008
Order x Pronoun = S/0 1 0.54 0.54 0.50 0.5009
Error (c) 46 50.19 1.09

Pron = T/NT x S/0 1 0.48  0.48 0.80 0.621
Order x Pron = T/NT x S/0 1, 0.16 0.16 0.03 0.866
Error (bc) 44 27.62 0.60

Total 203.67

* Degrees of freedom adjusted to take account orf the use of
Winer's formula.

Significant main effect of pronoun referring to the subject
or object (Pronoun = Subject faster).

95



!
i

Table A 4.14 continued

Eg Analysis by passages

Source

Sum of
Squares

Mean F2
Squares

‘Between passages

Within passages

Order X/Y
Error (a)

Pronoun = T/NT'
Error (b)

Pronoun = S/0
Error (c)

Order x Pronoun
Error (ab)

Order x Pronoun
Error (ac)

I

T/NT

S/0

Pronoun = T/NT x S/0

Error (bc)

Order x Pron ="T/NT x S/0 1

Error (abc)

11

11

0.40 1.06

0.12 0.27

4.62 13.73

0.10 0.70

0.15 0.63

0.326

0.618

0.004

Significant main effect of pronoun referring to the
= Subject faster).

or object (Pronoun
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Table A 4.15 Mean reading rates (words per second) for
each passage by condition and consistency of subject
assignment in check on materials - Experiment 4

Across order

Consistent subject assignment passages

T =28 NT = S
Passage
3 aaE 3.23 3.61
4 SARAH 5.21 3.52
6‘ MR BENTLEY 4,43 3.02
7 HERBIE 3.85 5.39
8 DIANE 4.80 3.60
9 MR ROBERTS 4.73 3.44
10' SIMON 2.95 1.94
12 RORY 4.37 2.97
" overall mean  4.20 3.40
‘
Others
: T =8 NT = S
Passage
1 owary 2.34 1.00
2 JAMES 2.26 2.58
5 SHAUN 3.89 3.02
11 FIONA 3.37 4.60
“overall mean  2.97  3.55
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Table A 5.1 Number of assignments to the subject and
object for each sentence by condition - Experiment 6(a)

_ 'Topic' = Subject 'Nontopic' = Subject
Assignment
Sentence to: Subject Object Subject Object
1wy 3 3 1 s
2 JAMES 0 6 5 1
3 JANE | 6 0 5 1
4 SARAH 5 1 2 4
5 SHAUN 6 0 5 1
6 MR BENTLEY 6 0 2 4
7 HERBIE . 6 0 4 2
8 DIANE 6 0 5 1
9 MR ROBERTS 4 6 .0 6 0
10- SIMON 6 0 6 0
11 FIONA 0 6 0 6
12 RORY 3 3 2 4
overall mean 4.4 1.6 3.6 2.4
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Table A 5.2 Summary tables for the analyses of variance of
assignments by condition - Experiment 6(a)

El Analysis by readers

Source ' daf Sum of Mean F, p
Squares Squares

Between readers 11 0.00
)

Within readers 36 91.96

'T' =8/ 'NT' =S 1 0.00 0.00

Error (a) 11 0.00 0.00

Assignment (S/0) 1 47.98 47.98 20.31 0.001
Error (b) il 25.99 2.36

'T'/'NT'=S x Assignment 1 8.34 8.34 9.51 0.010
Error (ab) 11 9.65 0.88

Total 91.96

Significant main effect of assignments (more to the subject
than to the object) and significant interaction between
assignment and subject of sentence.

Eg Analysis by sentences

Source df Sum of Mean F, P
Squares Squares

Between sentences 11 0.00

Within sentences 36 271.94

'"T' =S/ 'NT' =S 1 0.00 0.00

Error (a) 11 0.00 0.00

Assignment (S/0) 1 47.98 47.98 3.26 0.096
Error (b) 11 161.96 14.72

'T'/'NT'=S X Assignment 1 8.33 8.33 1.71 0.22
Error (ab) 11 53.68 4.88

Total 271.94

Marginally significant main effect of assignment (more to
the subject than to the object).
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Table A 5.3 Number of assignments to the subject and
object in each sentence by condition - Experiment 6(b)

. 'Topic' = Subject 'Nontopic' = Subject
Assignment .
Sentence to: Subject Object Subject Object
1 owary 3 3 s 1
2 JAMES 3 3 5 1
3 JANE 5 1 .6 0
4 SARAH 5 1 3 3
5 SHAUN - _ 6 0 6 0
6 MR BENTLEY 3 3 2 4
7 HERBIE : 6 0 5 1
8 DIANE 6 0 6 0
9 MR ROBERTS 5 1 4 2
10 SIMON 6 0 6 0
11 FIONA ' 0 6 0 6
12 RORY 5 1 4 2
overall mean s 1.6 1.3 1.7
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Table A 5.4 Summary tables for the analyses of

of assignments by condition - Experiment 6(b)

El Analysis EX readers

variance

. —— —— - ———— — —— ——————_— ——— ————— — — —————— — A ————— ——— —— —— - —— ——— — o

Source df
Between readers 1li
Within readers 36
'T* =S / 'NT' =S 1
Error (a) 11
Assignment (S/0) 1
Error (b) , 11
'T'/'NT'=S x Assignment 1
Error (ab) 11
Total

Significant main effect
subject).

Eg Analysis by sentences

of

to

the

Source . df
Between sentences 11
Within sentences 36
'T" = 8§ / 'NT' =8 1

1

Error (a) 1

Assignment (S/0)
Error (ab) il

'T'/'NT'=S x Assignment 1
Error (ab) ‘ i1

Significant main effect
subject).

of

Sum of Mean Fq
Squares Squares
0.00
125.96
0.00 0.00
0.00 0.00
90.72 92.72 97.38
10.25 0.93
0.08 0.08 0.04
25.91 2.26
125.96
assignment (more
Sum of Mean Fy
Squares Squares
0.00
242.04
0.00 0.00
0.00 0.00
90.78 90.78 7.44
134.25 12.20
0.08 0.08 0.05
16.93 1.54
242.04
assignment (more

to



Table A 5.5 Mean assignment rates (words per second) for
each sentence by condition - Experiment 6(a)

Sentence 'Topic' = Subject 'Nontopic' = Subject
1 oMy 2.66 141
2 JAMES 1.42 1.76
3 JANE 2.02 2.17
4 SARAH 2.09 2.16
5 SHAUN 1.74 2.12
6 MR BENTLEY 2.66 2.50
7 HERBIE 1.94 1.68
8 DIANE 2.37 2.69
9 MR ROBERTS 2.49 2.21
10 SIMON 2,93 2.14
11 FIONA’ 1.90 2.29
12 RORY 2.02 1.51
“overall mean  2.19  2.05
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Table A 5.6 Summary tables for the analyses of variance of
assignment rates by condition - Experiment 6(a)

El Analysis by readers

Source af Sum of Mean F,. p
Squares Squares

Between readers 11 5.40

Within readers 12 0.64

'T* =8/ 'NT' =S 1 0.11 0.11 2.19 0.16
Error 11 0.54 0.05

No significant effect.

Eg Analysis by sentences

Source df Sum of Mean Fy o)
Squares Squares

Between sentences 11 2.30

Within sentences 12 1.58

'T" = § / 'NT' =S 1 0.11 0.1l 0.80 0.61
Error 1i 1.47 0.13

Total 3.89

No significant effect.
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Table A 5.7 Mean assignment rates (words per second) for
each sentence by condition and assignment - Experiment

6(a)
'Topic' = Subject 'Nontopic' = Subject

Assignment to: Subject Object Subiject Object
Sentence
1 mary 2.68 2.64 1771 1.3
2 JAMES | 1.42 1.61 2,52

3 JANE ‘ 2,02 2.26 . 1.72

4 SARAH 2.18 1.67 2.57 1.95

5 SHAUN | 1.74 2.28 1.32

6 MR BENTLEY 2.66 3.56 1.98

7 HERBIE | 1.94 2.04 0.98

8 DIANE : - 2.37 2.87 1.78

9 MR ROBERTS 2,49 2.21

10 SIMON | 2.93 2.14

11 FIONA 1.90 2.29

12 RORY 2.06 1.99 1.07 1.73
overall mean  2.31  1.92  2.22  1.76
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Table A 5.8 Summary table (by readers) for the analysis of
variance of assignment rates by condition and assignment -
' Experiment 6(a)

F Analysis by readers

Source df Sum of Mean Fy p
Squares Sqguares

Between readers 1l 11.63

Within readers 36 7.11

'T* =S/ 'NT' = 8§ 1 0.07 0.07 0.62 0.55

Error (a) 11 1.33 0.12

Assignment (S/0) 1 2.41 2.41 23.03 0.001
Error (b) 11 1.15 0.10

'T'/'NT'=S x Assignment 1 0.00 0.00 0.02 0.89

Error (ab) 11 2.15 0.20

Total 18.74

Significant main effect of assignment (faster when
assignment was to the subject than when assignment was to
the object). .
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Table A 5.9 Mean assignment rates (words per second) for
each sentence by condition - Experiment 6(b)

Sentence 'Topic' = Subject 'Nontopic' = Subject
1 omary 2.20 1
2 JAMES 1.37 1.46
3 JANE 2.04 1.84
4 SARAH 2.07 2.03
5 SHAUN 2.46 2.43
6 MR BENTLEY 1.74 1.73
7 HERBIE 1.88 2.31
8 DIANE 2.05 2.13
9 MR ROBERTS 2.53 2.47
10 SIMON 1.71 1.95
11 FIONA 1.97 2.62
12 RORY 1.44 2.11
overall mean  1.96 2.0
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Table A 5.10? Summary tables for the analyses of variance

of assignment rates by condition - Experiment 6(b)

El Analysis bz readers

Source

Sum of
Squares

Between readers

Within readers

'y = g / INT:' =
Error :

No significanf effect.

Eg Analysis by sentences

Source !

Sum of
Squares

. D S — A —— ST —— ——— Y T —— —— T — . —— N ———  — ——— ————— —— —— ——— ———

Between sentences

Within sentences’

'Y =g / INT:I =
Error j

No significant effect.

S
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Mean Fy P
Squares

0.07 0.82 0.61
0.09

Mean Fy P
Squares

0.07 1.28 0.28
0.u6



Table A 5.11 Mean assignment rates (words per second) for

each sentence by conditig?b?nd assignment - Experiment
, 'Topic' = Subject 'Nontopic' = Subject
Assignment to: Subject Object Subject Object
Sentence
1 mary 1.4 2.46 1.99 0.31
2 JAMES 1.53 1.22 1.44 1.55
3 JANE | 2.15 1.51 1.84
4 SARAH | 2.04 2.22 2.11 1.95
5 SHAUN ' 2.46 2.43
6 MR BENTLEY 1.40 2.08 1.83 1.68
7 HERBIE 1.88 2.47 1.51
8 DIANE 2.05 2.13
9 MR ROBERTS 2.55 2.46 2.65 2.12
10 SIMON 1.71 1.95
11 FIONA 1.97 2.62
12 RORY | 1.40 1.65 2.39 1.57
overall mean 1.02 1.95 2.1 1.66



Table A 5.12 Summary table (by readers) for the analysis
of variance of assignment rates by condition and assignment
- Experiment 6(b)

El Analysis by readers

Source df Sum of Mean Fy o}
Squares Squares

Between readers 11 11.62

Within readers 36 7.08

'T* =5/ 'NT' =8 1 0.06 0.06 0.17 0.69
Error (a) 11 3.50 0.32

Assignment (S/0) 1 0.07 0.07 0.62 0.55
Error (b) 11 1.68 0.11

'T'/'NT'=S x Assignment 1 0.01 0.01 0.03 0.86
Error (ab) 11 2.29 0.21

Total 18.70

No significant effects.
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Table A 5.13 Mean reading rates (words per second) for
each sentence by condition - Experiment 7(a)

Sentence 'Topic' = Subject 'Nontopic' = Subject
1 mary .61 s.23
2 JAMES : 3.65 3.72
3 JANE 3.25 3.25
4 SARAH 4.42 4.66
5 SHAUN 3.82 3.48
6 MR BENTLEY 4.57 4.35
7 HERBIE 4.50 4.26
8 DIANE 3.99 3.94
9 MR ROBERTS 4,24 4.78
10 SIMON 4.04 3.90
11 FIONA 3.60 3.44
12 RORY 4.12 4.17
“overall mean  3.99  a.02

110



5.14 Summary tables for the analyses of wvariance

Table A of
of reading rates by condition - Experiment 7(a)

El Analysis by readers

Source df Sum of Mean Fq p
Squares Squares

Between readers il 104.64

Within readers 12 1.56

'T" =5 / 'NT' = S 1 0.00 0.00 0.03 0.86
Error : 11 1.56 0.14

Total | ‘ 106.20

No significant eirect.

EZ Analysis by sentences

Source ‘ df Sum of Mean F, p
' Squares Squares |,

Between sentences il 3.90

Within sentences 12 0.47

'"T'' =S / 'NT' =S 1 0.00 0.00 0.09 0.76
Error 11 0.47 0.04

Total 4.37

No significant effect.
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Table A 5.15 Mean reading rates (words per second) for
each sentence by condition - Experiment 7(b)

Sentence 'Topic' = Subject 'Nontopic' = Subject
1 maRy 3.6 3.60

2 JAMES 3.49 2.82

3 JANE 3.75 2.69

4 SARAH | 3.65 . 4.10

5 SHAUN | 4.15 3.70

6 MR BENTLEY 4.87 3.65

7 HERBIE 3.57 4.05

8 DIANE 3.26 3.62

9 MR ROBERTS 4.48 4.27

10 SIMON 2.69 2.67

, 11 FIONA | 3.29 3.17

| 12 RORY 4.25 3.95
“overall mean . 3.73 3.2
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5.16 Summary tables for the analyses of variance

Table A
of reading rates by condition - Experiment 7(b)

El Analysis by readgis

Source ’ df Sum of Mean Fy o)
Squares Squares
Between readers ' 1li 22.04
Within readers ; 12 1.19
'T* =S/ 'NT' =S 1 0.26 0.26 3.13 0.10
Error ‘ 11 0.92 0.08
Total 23.22

No significant effect.

Fy Analysis by sentences

Source df Sum of Mean F, p
Squares Squares
Between sentences i1 5.73
Within sentences 12 2.02
'T* = s / 'NT' =58 1 0.26 0.26 1.66 0.22
Error 11 1.75 0.16
Total 7.75

No significant effect.
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Table A

5.17

Mean reading rates (words per

second)

for

each sentence by condition - Experiment 8(a)

Sentence

'Topic'
Subject

Pronoun referred to

'Topic'
Ob ject

'Nontopic'
Subject

'Nontopic'
Object

JAMES

CARL

SARAH
CLARE

MR BENTLEY
HERB

COLIN

MR ROBERTS
PENNY

FIONA

3.26

Overall mean
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5.18 Summary tables for the analyses of variance

Table A
of reading rates by condition - Experiment 8(a)

El Analysis by readers

Source ‘ j df Sum of Mean Fy p
Squares Squares

Between readers : 23 85.50

Within readers ' 72 18.00

Pronoun = 'T'/'NT' 1 0.00 0.00 0.003 0.95
Error (a) ‘ 23 4.82 0.21

Pronoun = S/0 ' 1 0.38 0.38 1.25 0.27
Error (b) 23 6.92 0.30

Pron = 'T'/'NT' x S/0 1 0.03 0.03 0.1 0.75
Error (ab) , 23 5.86 0.25

Total 103.50

No significant etffects.

Eg Analysis by sentences

Source df Sum of Mean F, P
Squares Squares

Between sentences il 5.58

Within sentences 36 3.66

Pronoun = 'T'/'NT' 1 0.00  0.00  0.001 0.97
Error (a) 11 1.31 0.12

Pronoun = S/0 1 0.20 0.20 1.36 0.27
Error (b) 11 1.61 0.15

Pron = 'T'/'NT' x S/O 1 0.01 0.0l 0.23 0.65
Error (ab) 11 0.53 0.05

Total 9.24

No significant effects.
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Table A 5.19 Mean reading rates (words per second) for
each sentence by condition - Experiment 8(b)

: Pronoun referred to
'Topic' 'Topic' 'Nontopic' 'Nontopic'
Sub ject Object Subject Object

Sentence
1 wary 3.66 331 3.89 3.43
2 JAMES 3.07 3.32 2.58 2.64
3 CARL 3.13 3.02 3.13 2.70
4 SARAH 1 3.70 4.11 3.72 4.05
5 CLARE - 3.75  3.88 3.83 3.37
6 MR BENTLEY 3.22 ~ -3.06 3.70 3.08
7 HERB ©3.03 2.95 2.77 3.30
8 COLIN 2.93 3.42 3.73 2.87
9 MR ROBERTS = 3.86 3.63 4.44 3.73
10 PENNY 2.82 2.44 2.46 1.84
11 FIONA - 3.25 4.03 2.86 3.64
12 RORY 3.26 4.12 3.39 3.21

Overall mean = 3.31 3.44 3.38 3.16
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5.20 Summary tables for the analyses of variance

Table A ot
of reading rates by condition - Experiment 8(b)

El Analysis by readers

Source df Sum of Mean Fy p
' Squares Squares
Between readers 23 112.81
Within readers - 72 17.20
Pronoun = 'T'/'NT' 1 0.29 0.29 0.924 0.66
Error (a) 23 7.02 0.31
Pronoun = S/0 1 0.05  0.05 0.22 0.65
Error (b) . 23 4.79 0.21
Pron = 'T'/'NT' x S/O 1 0.75 0.75 3.98 0.06
Error (ab) 23 4.31 0.19
Total 130.01

Marginally sigdificant interaction between the pronoun
referring to the 'topic' or 'nontopic' and the pronoun
referring to the subject or object.

Eg Analysis Qz;sentences

Source df Sum of Mean F, o)
' Squares Squares

Between sentences 11 8.78

Within sentences 36 4.10

Pronoun = 'T'/'NT" 1 0.14 0.14 1.51 0.24
Errxor (a) . 11 1.03 0.09

Pronoun = S/0 1 0.02 0.02 0.13 0.72
Error (b) K 11 1.83 0.17

Pron = 'T'/'NT' x S/0 1 0.38 0.38 5.97 0.03
Error (ab) o 11 0.69 0.06

Total 12.88

Significant interaction between pronoun referring to the
'topic' or ‘'nontopic' and the pronoun referring to the

subject or object.

117



Table A 5.21 Experimental sentences used in Experiment 9

All sentences are shown with the pronoun referring to the
person to whom the verb was intended to bias assignment and
to the subject of the sentence.

Sentences intended to bias assignment to the male actor

Number

of words

1 James started fighting Elaine and he kicked her. 8
2 Carl often pléyed against Monica and he usually

beat her. : 10

3 Brian went with Sue to the cinema and he paid for
her. ‘ 12

4 Peter lived with Jenny and he built her some
book shelves.: 11

5 Phillip was ehgaged.to Julie and he painted her
house. A 10

6 Mike took Sarah to the crowded football match and
he lifted her up. 13

Sentences intended to bias assignment to the female actor

Number
of words

1 Linda shared a house with John and she nagged him
all the time. 13

2 Karen talked to Paul at the disco and she flirted
’ with him. ﬁ 12

3 Caroline liked David and she cooked him a nice meal. 10

4 Emma went camping with Christopher and she washed

his shirts.: 10
5 Ann walked home from the ballet with Nick and

she pirouetted round him. 13
6 Lucy went to see Robert and she restyled his hair. 10

Range 8 - 13

Mean 11
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Table A 5.22 Number of times male or female (and subject

or object) chosen as the most likely actor at the end of

the sentences presented in the pilot study for Experiment
9

Sentences intended to produce a bias toward the male actor

Male chosen No Female
Subject Object preference
Verb ‘

“kickea 1 1 2 6
beat 4 1 0 5
paid for C3 3 1 3
built 4 3 1 2
painted 5 4 0 1
lifted 5 2 2 1

Sentences intended to produce a bias toward the female
actor

: Female chosen No Male

. Subject Object preference
Verb

“hagged . 3 2 a2 3

flirted - 5 0 0
cooked j 5 1 1 3
washed ; 4 3 2 1
pirouetted 3 2 1 4
restyled | 3 3 1 3
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Table A 5.23 Mean reading rates (words per second) for

each sentence by condition - Experiment 9

Subject

+ve

Pronoun referred to
Subject

Object

t+ve

Object

-ve

Person for'whom bias
was:

Sentence

1 JAMES

2 CARL

3 BRIAN

4 PETER

5 PHILLIP

6 MIKE

7 LINDA

8 KAREN

9 CAROLINE

10 EMMA
11 ANN
12 LUCY

2.97

Overall mean
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Table A 5.24 Summary tables for the analyses of variance
of reading rates by condition - Experiment 9

El Analysis by readers

Source S df  Sum of Mean Fi p
Squares Squares
Between readers 23 95.90
Within readers . 12 35.81
Pronoun = S/0 1 0.94 0.94 2.45 0.13
Error (a) 23 8.79 0.38
Pronoun = +ve/-ve bias 1 1.90 1.90 4.23 0.049
Error (b) ‘ 23 10.35 0.45
Pron = 5/0 x +ve/-ve 1 0.62 0.62 1.09 0.31

Error (ab) 23 13.21 0.57

Total j 131.72

Significant main effect of bias (faster when pronoun
referred to the character with positive bias).

Eg Analysis by sentences

Source ‘ df Sum of Mean F, o)
: Squares Squares

——— ——————— ————————————— ———— A ——————— —— ————— o ——— T —— - ———— - —

Between sentences 11 18.45

Within sentences 36  14.26

Pronoun = S/0 1 0.47 0.47 0.86 0.62
Error (a) il 5.97 0.54

Pronoun = +ve/Fve bias 1 0.94 0.94 5.64 0.035
Error (b) : 11 1.84 0.17

Pron = S/0 x +ve/-ve 1 0.31 0.31 0.73 0.58
Error (ab) : 11 4.72 0.43

Total 32.71

Significant main effect of bias (faster when pronoun
referred to the character with positive bias).
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Table A 5.25 Mean reading rates (words per second) for
each sentence by condition - replication of Experiment 8(b)

; Pronoun referred to
' Topic' 'Topic' 'Nontopic' 'Nontopic'
Subject Object Subject Object

Sentence
1 mary 3.6 3.65 391 4.47
2 JAMES 3.17 2.83 2.69 3.21
3 CARL . 3.43 2.70 3.09 3.36
4 SARAH 4.0l 4.34 4.12 4.52
5 CLARE 4.20 3.71 3.92 3.89
6 MR BENTLEY 4.80 4.44 4.13 4.36
7 HERB ~3.10 3.70 4.07 2.63
8 COLIN 3.28 3.23 3.33 3.50
9 MR ROBERiS 4.24 4.43 3.86 4.28
10 PENNY 2.69 2.95 2.66 2.94
11 FIONA 3.17 3.80 3.61 3.92
12 RORY | 3.66 3.59 3.94 3.78
" overall mean  3.63 3.6l 3.61 3.74
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Table A 5.26 Summary tables for the analyses of variance

of reading rates by condition - replication of Experiment
8(b)

Ei Analysis by réaders

Source , daf Sum of Mean Fy o)
' Squares Squares

Between readers 23 142.70

Within readers | 72 25.14

Pronoun = 'T'/'NT!' 1 0.07 0.07 0.20 0.67
Error (a) : 23 8.39 0.37

Pronoun = S/0 , 1 0.08 0.08 0.22 0.65
Error (b) 23 7.94 0.35

Pron = 'T'/'NT' x S/0 1 0.11 0.11 0.29 0.60
Error (ab) 23 8.55 0.37

Total ; 167.84

No significant effects.

F, Analysis by sentences

Source : df Sum of Mean Fy P
Squares Squares

Between sentences 11 12.21

Within sentences 36 3.32

Pronoun = 'T'/'NT' 1 0.04 0.04 0.67 0.57
Error (a) 11 0.61 0.06

Pronoun = S/0 1 0.04 0.04 0.49 0.50
Error (b) ; 11 0.86 0.08

Pron = 'T'/! NT' x S/0 1 0.06 0.06 0.36 0.57
Error (ab) , 11 1.72 0.16

Total 15.53

No significant effects.
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Table A 6.1 Experimental passages used in Experiment
10

The passages are presented with the sentence units in Order
X (T, NT, T, NT) ‘and with the topic as subject of the
target sentence (underlined). The questions were the same
as those used in Experiment 2 (see Table A 3.3).

1 MARY

Mary had left home when the firm she worked for promoted
her. She now had a flat on the other side of town. So she
could walk to work every day. Jenny was her younger
sister. She didn't really want to be left alone when their
parents went on holiday. So she went to see Mary for the
weekend. Mary didn't often get the chance to go home
anymore. And she was sorry because she missed visiting
Jenny. Jenny was still at school. She worked hard to
finish all her homework so that she could relax on
Saturday. Mary joined Jenny for breakfast. And she asked
her to phone the theatre to see what was on. There were
only matinee tickets left. So they decided not to go.

2 JAMES

James had only been at school for two years. But he was
already looking forward to being able to leave. Andrew was
in the same class. He had always liked going to school.
He was big. So he could easily bully the other children in
his class. Young James tried hard to please his teachers.
But he never seemed to get very good marks. And he always
seemed to be getting into trouble. Andrew was gquite
intelligent. So he usually managed to get good marks quite
easily. Though - he spent a lot of time making trouble.
James started fighting Andrew. And he kicked him. The
teacher sent them both in to see the headmistress.

3 JANE
Jane went to a big comprehensive school. She was well
known there because she was very good at all kinds of
sport. And she had a lot of friends there. Monica and
Jane had known each other since they went to infant school
together. They had been friends ever since. Though Monica
had now moved to a different area. She was very popular in
her school there. All of Jane's family were interested in

sport. So she had encouragement from home. This was
especially so when she played tennis. Monica also enjoyed
playing sport. She was well known in her area as Jane's

biggest rivai. Jane often played against Monica. And she
usually beat her. But it didn't make any difference to

their friendship.
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4 SARAH

Sarah had looked forward to leaving home and going to
University for a long time. But unfortunately she wasn't
very happy there. Her close friend Trish still lived at
home . She had started a new job in the local hospital.
Although she sometimes envied her friends she was finding
her job very rewarding. Sarah was quite shy. She always
found it difficult to make new friends. Superficially she
seemed cheerful. But she often wondered whether she had
made the right decision about her future. Trish didn't
want an office job or to work in England. Eventually she
intended to go to work abroad. But she wanted some
exXxperience at home first. Sarah went to see Trish. And
she told her what had been happening t to " her. They had a
lot to talk about.

5 SHAUN
It was beginning to get dark. And Shaun was starting to
worry a bit. He knew they still had quite a long way to go
before they got back to his minivan. But he was the only
one who seemed concerned. Ben hadn't wanted to come on
this walking trip. He'd 1let his friends persuade him
because he was easy-going. And he hadn't planned anything
else for that day. And he'd decided he needed the
exercise. Shaun was quite used to walking in these hills.
And he knew how easy it was to lose the path once it got
dark. Ben wasn't aware of how late it was getting. He was
engrossed in a conversation telling Shaun about meditation.
But he suddenly stopped. He became aware that the path
narrowed over a steep drop. Shaun led Ben along the path.
And he called to him to be careful. They got safely across

— ——— —— — — —

and the others followed.

6 MR BENTLEY

Mr Bentley was travelling to see his mother in Okehampton.
He was driving his new car very carefully. He was worried
about driving it on the narrow Devon lanes. A man had been
following him for a 1long time. He was getting very
impatient. He was trying to hurry to get to his friend's
house for dinner. Mr Bentley was driving slowly. So he
managed to stop the car in time when he came across a herd
of cows blocking the road. He thought it was dangerous.
So he got out of his car and stopped the man in the car
behind. The car driver had left the office late. And he
had underestimated how long it would take him to drive to
his friend's house. So he thought he had better phone his
friend to warn him that he would arrive late. Mr Bentley
talked to the car driver. And he told him that they

wouldn't be long The cows only had to go into the next
field.
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7 HERBIE

Herbie was dquite certain that his raid on the Drug Store
would succeed. Unfortunately the owner was there and saw

Herbie as he arrived. Although Herbie fired at him
slightly wounding him he set off the alarm. Jack had
joined the Police Force six months ago. Tonight he didn't
feel well. He was looking forward to going off duty. And

he didn't get on with the driver of his car. Herbie tried
to get away quickly. He forced open the window leading to
the side street where he had parked a minute ago. But he
hurt his ankle as he jumped down. Jack jumped when he
heard the alarm from the Drug Store. He leaped out of the
car and ran over to the Store. And he shouted to his
driver to cover him. Herbie saw the policeman. And he
shot at him. But this time nobody was hurt.

8 DIANE
Diane was very keen on outdoor sports. She would have
loved to go sailing. But she couldn't afford a boat or

lessons while she was still at school. Nicola 1loved
sailing. ©She was very pleased that her new house was close
to several reservoirs. And she hoped her father would have
more time to take her sailing now that he had a different
job. Diane was pleased to see that her new neighbours had
a sailing dinghy. She soon called round to see Nicola who
was about her own age. Nicola was a bit apprehensive about
going to a new school. But overall she was pleased to have
moved house. Diane liked Nicola straight away. And she
asked her 1if she enjoyed sailing. They arranged to go
sailing that weeked.

‘9 MR ROBERTS

Mr Roberts didn't usually look forward to going away with
his family. But this year he was unhappy and having
problems at work. So he welcomed the break. Jonathan was
really pleased. He was going to the seaside for the first
time in his life. And he didn't have to go back to school
for another six weeks. Mr Roberts spent most of the time
on his own reading or walking when they went on holiday.
But this year he spent much more time with -his children
Jonathan and Caroline. Jonathan definitely wanted to learn
to swim. And to use his new surfboard which he'd just got
for his birthday. Mr Roberts taught Jonathan how to make a
kite. And he showed him how to make it fly properly. By
the end of the holiday Mr Roberts felt much happier.

10 SIMON
Simon had just left school and started working as a trainee
surveyor. But he wasn't enjoying it very much. He found
the work difficule. And he found it hard to make his own
decisions. Geoff hadn't been working in the office for
very long. He was still cautious although he was finding
the work a bit easier now. And he made an effort to get to
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know the others in his office. Simon was determined not to
appear unhappy. So he always made a great effort to tackle

new Jjobs conscientiously. And he made an effort to seem
cheerful and confident while he was at work. Geoff
appeared to be an extrovert. He often played squash or
went drinking with the others in the.office. But this was
because he felt shy and insecure not because he felt
confident. Simon knew Geoff. And he envied him. But he

had no reason to.

1l FIONA

Poor Fiona was fed up with feeling lonely and depressed at
home. So she thought she would go for her favourite walk
down Dby the river. Anna was feeling miserable. She had
just Dbroken off her engagement. And she was wondering
whether she had done the right thing. Fiona was trying to
decide  who she could visit for a chat. Then she saw her

friend Anna in the distance. Anna couldn't stand being
with her over-symapthetic parents any longer. So she'd
come out for a walk to think things over. Fiona waved at

Anna. And she smiled at her. They were pleased to see
each other and walked on together.

12 RORY

Rory the Alsatian was very fierce. In fact everyone said
he was the most dangerous dog in the neighbourhood. Alfie
the poodle was usually very friendly. He loved playing
with the <children in the park near his house. Rory
belonged to a couple who were out at work all day. He
often roamed the streets on his own. And he caused trouble
by barking fiercely at everyone. Although he was usually
docile Alfie hated some of the dogs in the area. And he
sometimes picked fights with them. Rory met Alfie on the
street one day. And he bit him. Then he ran away as
quickly as he could.
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Table A 6.2 One of the filler passages used in Experiment

10
1 MELANIE
Melanie was watching a film on television. In the middle

her mother came in and asked her to go and buy some
lemonade. Melanie didn't want to go but she didn't like to
argue. The film was complicated so she asked her sister
Gillian to watch what happened. Then she ran down to the
shop at the corner of the road. She asked for some
lemonade. But then she realised that she had forgotten her
purse. She didn't want to go back for it. Luckily she
knew the shop keeper quite well. He said she could pay him
later. She ran back home. And she was annoyed to find
that Gillian had switched the film off.

Questions Correct answer
1 Melanie was reading a book. : False
2 The shop was at the corner of the road. True
3 Gillian switched the film off. True
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Table A 6.3 Number of assignments to the subject and
object for each passage by condition - Experiment 10

. Topic = Subject Nontopic = Subject
Assignment
Passage to: Subject Object Subject Object
1 omary s T s 1
2 JAMES 6 0 6 0
3 JANE 6 0 6 0
4 SARAH 5 1 5 1
5 SHAUN 5 1 5 1
6 MR BENTLEY 6 0 3 3
7 HéRBIE 6 0 6 0
8 DIANE 3 3 5 1
9 MR ROBERTS 6 0 6 0
10 SIMON 5 1 5 1
11 FIONA 4 2 3 3
12 RORY 6 0 6 0
Overall mean 5.3 0.8 5.1 0.9
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Table A 6.4 Summary tables for the analyses of variance of
assignments by condition - Experiment 10

El Analysis by readers

Source df Sum of Mean Fq p
Squares Squares

Between readers 11 0.00

Within readers- 36 255.96

T=S/NT =S 1 0.00 0.00

Error (a) 11 0.00 0.00

Assignment (S/0) 1 225.29 225.29 132.74 0.00
Error (b) 11 18.67 1.70

T / NT = S x Assignment 1 0.34 0.34 0.32 0.59
Error (ab) 11 11.67 1.06

Total 255.96

Significant main effect of assignment (more to the subject
than to the object).

F, Analysis by passages

Source df Sum of Mean Fy P
Squares Squares

Between passages 11 0.00

Within passages 36 272.00

T=8S/ NT =8 1 0.00 0.00

Error (a) ' 11 0.00 0.00

Assignment (S/0) 1 225.29 225.29 75.81 0.00
Error (b) 11 32.69 2.97

T / NT = S x Assignment 1 0.33 0.33 0.27 0.62
Error (ab) 11 13.69 1.24

Total 272.00

Significant main effect of assignment (more to the subject
than to the object).
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Table A 6.5 Number of words in each clause (sentence) of
the target sentences used in Experiment 10

Number of words in

Passage FIRST CLAUSE PRONOMINAL CLAUSE
1 oAy s 13
2 JAMES 4 4
3 JANE 5 5
4 SARAH 5 10
5 SHAUN ) 6 8
6 MR BENTLEY 7 9
7 HERBIE 4 5
. 8 DIANE 5 8
9 MR ROBERTS 9 10
10 SIMON 3 4
11 FIONA 4 5
12 RORY 8 4
“Range 3 -9 s-13
Mean 5.42 7.17
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‘Table A 6.6 Mean reading rates (words per second) for each
passage by condition - Experiment 10

Topic = Subject Nontopic = Subject
Clause First Pronominal First Pronominal
Passage

1 mary 2.64 181 2.90  3.73
2 JAMES 2.43 2.35 2.84 4,24
3 JANE 3.17 3.28 3.38 2.79
4 SARAH 2.88 5.30 3.25 5.15
5 SHAUN 3.93 4.69 2.36 5.15
6 MR BENTLEY 4,14 4,84 4.13 3.82
7 - HERBIE ' 3.27 3.81 3.24 2.86
ﬂ8 DIANE 1.63 4.20 3.10 4.35
9 MR ROBERTS 3.31 5.38 3.50 4.43
10 SIMON 1.82 1.89 1.95 2.02
11 FIONA | 3.74 4.08 3.36 3.84
12 RORY 4.78 2,75 4.65 2.93

overall mean  3.15  3.95  3.22  3.78
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Table A 6.7 Summary tables for the analyses of variance of

reading rates by condition - Experiment 10

El Analysis by readers

Source

Between readers

Within readers

T=S8/ NT =S8
Error (a)

Clause 1/2
Error (b)

T / NT = S x Clause
Error (ab)

df Sum of Mean Fy
Squares Squares
1l 32.15
36 15.49
1 0.03 0.03 0.10
11 2.66 0.24
1 5.49 5.49 21.91
11 2.76 0.25
1 0.17 0.17 0.42
11 4.38 0.40
47 .64

Significant main effect of clause type (pronominal
read faster than first clause).

F, Analysis by passages

Source

clause

Between passages

Clause 1/2
Error (a)

Within passages

T =S/ NT =8
T / NT = S X Clause
Error (b)

Marginally significant

daf Sum of Mean F2
Squares Squares
23 39.30
1 5.53 5.53 3.60
22 33.77 1.54
24 6.72
1 0.03 0.03 0.09
1 0.19 0.19 0.63
22 6.51 0.30
46.02

effect of clause type (pronominal
clause read faster than first clause).

133



Table A 6.8 Mean reading rates (words per second) for each

passage by condition and assignment - Experiment 10

Assignment to:

—— — —————— — - ————— — ——— ————— ——— — ———— T — T ——— ———— —————— ——————

Clause
Passage
1 MARY
2 JAMES
3 JANE
4 SARAH
5 SHAUN

6 MR BENT.

—— — ——— — —— — —— ——— ———— ——_— —— i ———— " ——— ———— - — —— ————— - ——— — o ———

7 HERBIE
8 DIANE
9 MR ROB.
10 SIMON
11 FIONA
12 RORY
Overall
mean

Topic = Subje
Subject Ob
1 2 1
2.58 4.84 2.92
2.43 2.35
3.17 3.28
2.75 5.39 3.55
3.94 5,02 3.88
4,14 4,84
3.27 3.81
1.53 4.46 1.74
3.31 5.38
1.91 2.21 1.34
4,19 4.67 2.85
4.78 2.75
3.17 4.08 2.71
MR BENT. =
MR ROB. =
Clause 1

Clause 2

ct Nontopic
ject Subject
2 1 2
4.65 3.03 3.23
2.84 4.24
3.38 2.79
4.85 3.34 4.90
3.04 1.81 4.38
3.97 4.27
3.24 2.86
3.93 2.81 3.85
3.50 4.43
0.27 1.85 1.75
3.20 3.72 3.92
4.65 2.93
3.32 3.18 3.63
MR BENTLEY
MR ROBERTS
First clause

Pronominal clause
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Subject
Object
1 2
2.36 6.26
2,82 6.41
5.08 8.99
4,28 3.38
4.54 6.83
2.41 3.36
3.00 3.77
3.50 5.57



Table A 6.9 Summary tables for the analyses of variance
of reading rates by condition, subject assignments only -

Experiment 10

El Analysis by readers

Source df Sum of Mean Fy p
Squares Squares

Between readers 11 29.85

Within readers 36 17.15

T=8,/ NT =8 1 0.37 0.37 0.92 0.64
Error (a) 11 4,40 0.40

Clause 1/2 1 4.56 4.56 20.65 0.001
Error (b) il 2.43 0.22

T / NT = S x Clause 1 0.21 0.21 0.44 0.53
Error (ab) 11 5.19 0.47

Total 47.00

Significant main effect of clause type (pronominal clause
read faster than the first clause).

EZ Analysis by passages

Source daf Sum of Mean F, p
Squares Squares

Between passages 23 39.88

Clause 1/2 1 5.61 5.61 3.60 0.068
Error (a) 22 34,27 1.56

Within passages . 24 8.80

T=S,/NT =8 1 0.59 0.59 1.71 0.20
T / NT = S x Clause 1 0.65 0.65 - 1.89 0.18
Error (b) 22 7.57 0.34

Total 48.68

Marginally significant effect of clause type (pronominal
clause read faster than the first clause).
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Table

A 6.10

Mean verification rates for each passage

Pas

Ove

response - Experiment 10

sage

JAMES

JANE

SARAH
SHAUN

MR BENTLEY
HERBIE
DIANE

MR ROBERTS
SIMON

FIONA

rall mean
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Table A 6.11 Summary tables for the analyses of variance
of verification rates by response - Experiment 10

Ei Analysis by readers

Source af Sum of Mean Fy P
Squares Squares

Between readers 1l 5.26

Within readers 12 4.13

True / False 1 0.02 0.02 0.04 0.83
Error 11 4.12 0.37

Total 9.39

No significant effect.

F, Analysis by passages

Source | df  Sum of Mean F, p
Squares Squares

Between passages 11 14.14

Within passages 12 6.34 .

True / False 1 0.04 0.04 0.06 0.80
Error 11 6.30 0.57

Total 20.48

No significant effect.
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Table A 6.12 Mean verification rates for each passage by
condition - Experiment 10

Passage )
1 owaRy 2.06 1.79

2 JAMES 2,91 3.75

3 JANE 4.58 4.29

4 SARAH 3.54 2.13

5 SHAUN 1.80 3.20

6 MR BENTLEY : 2.45 2.15

7 HERBIE 3.66 3.41

8 DIANE 1.76 2.59

9 MR ROBERTS 3.25 2.15

10 SIMON 4,74 3.49

11 FIONA 2.29 | 1.97

12 RORY 2.86 4,18
“overall mean 3.3 2.93
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Table A 6.13 Summary tables for the analyses of variance
of verification rates by condition - Experiment 10

El Analysis by readers

Source df Sum of Mean Fl p
Squares Squares

Between readers 11l 5.00

Within readers 12 3.57

T=S/NT =358 1 0.06 0.06 0.18 0.68
Error 11 3.51 0.32

Total 8.56

No significant effect.

F, Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages 11 14.04

Within passages 12 5.32

T=S/NT =S5 1 0.06 0.06 0.13 0.73
Error 11 5.26 0.48

Total 19.36

No significant effect.
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Table A 6.14 Number of assignments to the subject and
object for each sentence by condition - Experiment 11

‘ 'Topic' = Subject 'Nontopic' = Subject
Assignment :

Sentence to: Subject Object Subject Object

L wmaRY 4 2 & 0o
2 JAMES ‘ 3 3 2 4
3 JANE 6 0 6 0
4 SARAH 5 1 5 1
5 SHAUN 6 0 6 0
6 MR BENTLEY 6 0 3 3
7 HERBIE 3 3 5 1
8 DIANE | 6 .0 6 0
9 MR ROBERTS 6 0 5 1
10 SIMON 6 0 6 -0
11 FIONA 0 6 1 5
12 RORY 2 4 4 2

overall mean AV 1.6 1.6 1.4
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Table A 6.15

Summary tables for the analyses of

variance

of assignments by condition - Experiment 11

El Analysis by readers

Source

Sum of

Squares

Mean Fl P
Squares

Between readers

Within readers

'"T' =S/ 'NT' =S
Error (a)

Assignment (S/0)
Error (b)

'T*/'NT'=S x Assignment
Error (ab)

107.97
38.00

0.33
13.66

31.25 0.0003

Significant main efrect of

than to the object).

F, Analysis by sentences

Source

df

159.96

assignment (more to the subject

Sum of

Squares

Mean F2 P
Sguares

—— —————— ——— T — T — — —— — — —— i — — ——— ———— —— . ——————————— ————— ———

Between sentences

Within sentences

'T'" =S / 'NT' =S
Error (a)

Assignment (S/0)
Error (b)

'T'/'NT'=S x Assignment
Error (ab)

107.97
131.97

0.34

12.00

Significant main effect of assignment (more to the

than to the object).
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Table A 6.16 Mean assignment rates (words per second) for
each sentence by condition - Experiment 11

'Topic' = Subject 'Nontopic' = Subject
Clause:  First Pronominal First Pronominal
Sentence
1 owaRy 2.90 3.7 2.25 2.17
2 JAMES 2,03 1.25 2.70 1.85
3 JANE 2.84 2.62 2.43 2.40
4 SARAH 2.57 2.50 3.98 3.05
5 SHAUN 3.22 2.64 2.58 2.56
6 MR BENTLEY 3.39 2.20 3.33 2.88
7 HERBIE 2.96 1.78 2.54 1.40
8 DIANE 2.37 2.52 2.89 2.66
9 MR ROBERTS 4,52 3.84 3.64 4.85
10 SIMON 2.23 | 1.81 1.93 2.09
11 FIONA 2.72 2.31 1.83 2.14
12 RORY 3.29 1.14 5.42 ' 1.77
overall mean 2.92  2.34  2.96  2.54
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Table A 6.17 Summary tables for the analyses of

El Analysis by readers

Source

Sum of
Squares

Mean Fl
Squares

variance
of assignment rates by condition - Experiment 11

Between readers

Within readers

'T' =8/ 'NT' =S
Error (a)
Clause 1/2

Error (b)

'Y / 'NT' = S X Clause
Error (ab)

0.33

0.19

No significant effects.

Eg Analysis by sentences

Source

Sum of
Squares

Mean F2
Squares

Between sentences

Clause 1/2
Error (a)

Within sentences

‘Tt = 5 / 'NT' = 8

'qr / 'NT' = S x Clause
Error (b)

Total

No significant effects.
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Table A 6.18 Mean assignment rates (words per second) for

each sentence by condition and assignment - Experiment 11
f

'Topic' = Subject 'Nontopic' = Subject
Assignment to: Subject Object Subject Object
Clause: 1 2 1 2 1 2 1 2
Sentence
1 MARY 2.76 2.51 3.18 5.40 2.25 2.77

2 JAMES 2.03 1.30 2.03 1.21 1.89 2.60 3.10 1.48
3 JANE 2.84 2.63 2;43 2.40
4 SARAH . 2.66 2.58 2.10 2.12 4.18 3.26 2.97 2.03
5 SHAUN 3.22 2.64 2.58 2.56
6 MR BENT. 3.39 2.20 3.47 3.42 3.18 2.34

7 HERBIE 3.38 2.49 2.55 1.08 2.79 1.46 1.28 1.10

8 DIANE 2.38 2.52 2.89 2.66
9 MR ROB. 4.52 "3.84 3.79 5.43 2.87 1.92
10 SIMON 2.23 1.81 1.93 2.09
11 FIONA 1.23% 0.74%2.72 2.31 1.13 0.96 1.98 2.38
12 RORY 3.46 1.34 3.22 1.01 6.23 1.89 3.80 1.55
overalr . T
mean 2.84 2.22 2.63 2.19 2.96 2.63 2.74 1.83
MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS

* Mean calculated using Winer's formula

First clause
~ Pronominal clause

Clause 1
Clause 2
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Table A 6.19 Summary tables for the analyses of

of assignment rates by condition,
- Experiment 11

El Analysis by readers

Source

variance
subject assignments only

Sum of
Squares

Mean Fl
Squares

Between readers

Within readers

'TY = § / 'NT' = 8
Error (a)

Clause 1/2
Error (b)
‘7' / 'NT' = S x Clause

Error (ab)

0.00 0.003 0.96

2.51 1.42

0.26

No significant effects.

EZ Analysis by sentences

Source

Sum of
Squares

Mean F2
Squares

Between sentences

Clause 1/2
Error (a)

Within sentences

‘'t =5 / 'NT' =8
'Ot/ 'NT' = S x Clause
Error (b)

Total

No significant eftects.

* Degrees of freedom adjusted to take account of

~ Winer's formula.
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Table A 6.20 Mean reading rates (words per second) for
each sentence by condition - Experiment 12

'Topic' = Subject 'Nontopic' = Subject
Clause: First Pronominal First Pronominal
Sentence
1 maRy 2.87 5.5 2.45 1.95
2 JAMES 2.50 2.97 2.79 4.08
3 JANE - 2,72 4.03 2.95 3.39
4 SARAH 3.20 4,41 3.17 5.60
5 SHAUN 4,02 4.95 3.69 4.08
6 MR BENTLEY 4.24 4.57 4,39 4.73
7 HERBIE 3.68 | 5.07 2.55 3.30
8 DIANE 2.71 3.97 2.67 4.23
9 MR ROBERTS 5.04 5.30 5.04 4.65
10 SIMON ' 2.28 3.03 2.45 3.79
11 FIONA 3.42 5.86 2.63 3.13
12 RORY 4,03 3.43 5.36 3.83
overall mean  3.39  4.43  3.35  4.15
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Table A 6.21 Summary tables for the analyses of variance
of reading rates by condition - Experiment 12

El Analysis by readers

Source df Sum of Mean Fi p
Squares Squares

Between readers 11 82.37
Within readers 36 22.13
'T* =S / 'NT' =S 1 0.37 0.37 1.05 0.33
Error (a) 11 3.85 0.35
Clause 1/2 1 10.36 10.36 18.29 0.002
Error (b) 11 6.23 0.57
'T' / 'NT' = S x Clause 1 0.13 0.13 l1.16 0.31
Error (ab) 11 1.20 0.11

- Total 104.50

Significant main effect of clause type (pronominal clause
read faster than the first clause).

EZ Analysis by sentences

Source af Sum of Mean F, o)
Squares Squares

Between sentences 23 35.98
Clause 1/2 1 10.09 10.09 8.58 0.008
Error (a) 22 25.89 1.18
Within sentences 24 10.06

T =S / 'NT' = 8§ 1 0.32 0.32 0.73 0.59
‘T / 'NT' = S x Clause 1 0.16 0.16 0.37 0.56
Error (b) 22 9.58 0.44
Total 46.04

Significant main effect of clause type (pronominal clause
read faster than first clause).
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Table A 6.22 Mean reading rates (words per second) for
each passage by condition - Experiment 13

Pronoun referred to

Topic Nontopic
" Subiject Object Subject Object
Clause: 1 2 1 2 1 2 1 2
Passage
1 MARY 3.71 6.82 3.86 6.00 2.93 6.49 4.15 6.40
2 JAMES 3.00 4.61 3.18 3.87 2.71 2.95 2.80 3.31
3 CARL 4,53 5,33 3.59 4.07 4.23 4.21 3.62 3.80
4 SARAH 4,46 5.21 4.25 5.32 4.59 6.11 4.18 4.57
5 CLARE 4.05 5.32 4.16 4.94 3.82 5.27 4.74 6.54

6 MR BENT. 5.17 5.68 4.40 2.69 4.73 2.07 4.77 3.99
7 HERB 311 5.06 3.30 4.69 2.47 4.80 3.19 3.02
8 COLIN 2.87 4.69 4.44 5.85 3.24 6.60 3.90 4.46

9 MR ROB. 5.27 3.86 3.95 5.18 3.73 5.68 4.41 5.39

10 PENNY 2.71 3.83 3.21 2.56 2.13 3.20 2.19 2.47
11 FIONA 2.40 4.42 3.56 4.52 4.29 6.36 3.79 5.62
12 RORY 4,89 4.43 5.82 4.98 5.54 4.80 5.89 3.99
Overall
mean 3.85 4.94 3.98 4.56 3.70 4.88 3.97 4.46
MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS
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Table A 6.23 Summary tables for the analyses of wvariance
of reading rates by condition - Experiment 13

El Analysis by readers

Source df Sum of Mean Fy P
Squares Squares

Between readers 23 186.56

Within readers 168 243.98

Pronoun = T/NT 1 0.39 0.39 0.17 0.69
Error (a) 23 53.30 2.32

Pronoun = S/0 1 0.41 0.41 0.42 0.53
Error (b) 23 22.58 0.98

Clause 1/2 1 34.06 34.06 38.84 0.00
Error (c) 23 20.17 0.88

Pronoun = T/NT x S/0 1 0.02 0.02 0.008 0.93
Error (ab) 23 51.30 2.23

Pronoun = T/NT x Clause 1 0.001 0.001 0.002 0.96
Error (ac) 23 15.78 0.69

Pronoun = S/0 x Clause 1 3.90 3.90 3.59 0.07
Error (bc) 23 24 .99 1.09

Pron = T/NT x S/0 x Clse 1 0.15 0.15 0.20 0.66
Error (abc) 23 16.93 0.74

Total 430.54

Significant main erfect of clause type (pronominal clause
read faster than the first clause) and marginal interaction
between pronoun reterring to the subject or object and

clause type.

149



Table A 6.23 continued

Eg Analysis by passages

Source df Sum of Mean F, p
Squares Sdquares

———————— ——— ———— ——— ——— — —— ——— —————— —— A — ———————————— ————— ———

Between passageés 23 88.51

Clause 1/2 1 16.75 16.75 5.14 0.03
Error (a) 22 71.76 3.26

Within passages 72 34.56

Pronoun = T/NT 1 0.14 0.14 0.29 0.60
Pronoun = T/NT x Clause 1 0.00 0.00 0.00 0.99
Exrror (b) 22 10.64 0.48

Pronoun = S/0 1 0.24 0.24 0.87 0.64
Pronoun = S/0 x Clause 1 2.14 2.14 7.77 0.01
Error (c) 22 6.07 0.28

Pronoun = T/NT x S/0 1 0.02 0.02 0.02 0.87
Pron = T/NT X S/0 X Clse 1 0.04 0.04 0.06 0.80
Error (bc) 22 15.56 0.69

Total ‘ 123.07

Significant main effect of clause type (pronominal clause
read faster than the first clause) and significant
interaction between pronoun referring to the subject or
object and clause type. \
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Table A 6.24 Mean reading rates (words per second) for
each passage by accuracy of response - Experiment 13

Passages which did not produce both correct and incorrect
responses were excluded.

Response accuracy

Correct Incorrect
Clause: First Pronominal First Pronominal
Passage
1 marYy 3.2 6.69 3,79 7.14
2 JAMES 3.14 3.87 3.05 4.21
3 CARL 4.26 4.44 4.04 6.11
4 SARAH 5.03 5.68 3.96 4.68
5 CLARE ‘ 4.47 5.97 3.64 3.94
6 MR BENTLEY 4.87 4.38 4.78 2.05
7 HERB 2.90 4.32 4.12 6.49
8 COLIN 3.89 5.80 3.57 3.86
9 MR ROBERTS 4.05 4.86 5.77 6.88
12 RORY 3.55 5.83 4.93 5.43
overall mean 3.9 5.18  4.17  5.08
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Table A 6.25 Summary tables for the analyses of variance
of reading rates by accuracy of response - Experiment 13

El Analysis by readers

Source daf Sum of Mean, Fy
Squares Squares

Between readers 18 96.85

Within readers 57 105.94
Correct/Incorrect 1 0.17 0.17 0.09
Error (a) 18 34.05 1.89

Clause 1/2 1 15.13 15.13 11.64
Error (b) 18 23.40 1.30
Correct/Incorrect x Clse 1 1.61 1.61 0.92
Error (ab) 18 31.60 1.76

Total 202.80

Significant main effect of clause type (pronominal
read faster than the first clause).

Eg Analysis by passages

Source df Sum of Mean . F2
Squares Squares

‘Between passages 19 35.19

Clause 1/2 1 11.13 11.13 8.33
Error (a) 18 24 .06 1.34

Within passages 20 17.36
Correct/Incorrect 1 0.01 0.01 0.01
Correct/Incorrect x Clse 1 0.20 0.20 0.21
Error (b) 18 17.15 0.95

Total ! 52.55

Significant main effect of clause type (pronominal
read faster than the first clause).
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Table A 6.26 Mean verification rates for each passage

condition - Experiment 13

.

Pronoun referred to

Topic
Subject

Topic
Object

Nontopic
Subject

Nontopic
Object

by

Passage
1 MARY
2 JAMES
3 CARL
4 SARAH

5 CLARE

6 MR BENTLEY |

7 HERB
8 COLIN

9 MR ROBERTS

10 PENNY
11 FIONA
12 RORY

3.26

3.32
3.54

Overall mean
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Table A 6.27 Summary tables for the analyses of variance
of verification rates by condition - Experiment 13

El Analysis by readers

Source daf Sum of Mean Fy P
Squares Squares

Between readers 23 60.75

Within readers 12 83.19

Pronoun = T/NT 1 0.00 0.00 0.00 0.99
Error (a) 23 30.88 1.34

Pronoun = S/0 1 10.94 10.94 15.43 0.001
Error (b) 23 16.31 0.71

Pronoun = T/NT x S/0O 1. 2.16 2.16 2.17 0.15
Error (ab) 23 22.90 1.00

Total | 143.94 '

Significant main effect of pronoun referring to the subject
or object (question verified more quickly when pronoun
referred to the subject).

gg Analysis by passages

Source . daf Sum of Mean Fy o)
Squares Squares

——— ———— T —————— ———— ——— — ——— —— — — T ——— T —————————— ———— —————— - ————

Between passages il 26.59

Within passages 36 22.30

Pronoun = T/NT 1 0.08 0.08 0.14 0.71
Error (a) : 11 6.01 0.55

Pronoun = S/0 _ 1 6.06 6.06 14.24 0.003
Error (b) ; 11 4.68 0.43

Pronoun = T/NT x S/0 1 0.56 0.56 1.25 0.29
Error (ab) 11 4.91 0.45

Total 48.89

Significant main effect of pronoun referring to the subject
or object (question verified more quickly when the pronoun
referred to the subject).

154



Table A 6.28 Mean reading rates (words per

second)

for

“each sentence by condition - Experiment 14

'Topic'

Pronoun referred to

Clause:

Sentence

1 MARY

2 JAMES

3 CARL

4 SARAH

5 CLARE

6 MR BENT.
7 HERB

8 COLIN

9 MR ROB.
10 PENNY
11 FIONA
12 RORY
Overall
mean

’ 'Topic' 'Nontopic'
Subject Object Subject
1 2 1 2 1 2
4.06 6.84 3.54 5.86 3.31 5.22
2.24 2.40 3.18 3.88 3.03 3.17
3.09 3.39 2.62 3.08 3.86 4.91
3.91 5.53 3.28 4.38 3.55 5.10
4.55 5.94 3.82 4,77 4.20 5.21
3.57 4.57 5.21 5.47 4.06 5.36
2.76 3.08 2.90 3.66 3.27 4.31
3.27 4.79 3.31 4.10 3.27 4.23
5.60 5.61 5.04 5.30 4.62 4.79
2.;8 3.51 2.84 3.85 2.68 3.33
3.38 4.28 2.93 3.39 3.47 5.34
4.21 2.94 5.96 3.61 4.50 2.57
3.54 4.41 3,72 4.28 3.65 4.46
MR BENT. = MR BENTLEY
MR ROB. = MR ROBERTS
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'Nontopic'

Object

1 2
3.12 5.28
2.28 3.14
2.91 3.56
3.79 6.31
4,14 4.15
4.31 4.70
2.98 4.34
3.84 5.33
4,91 4.32
2.64 3.07
3.19 3.72
5.64 3.69
3.65 4.30



Table A 6.29 Summary tables for the analyses of variance
of reading rates by condition - Experiment 14

e

El Analysis by readers

Source af Sum of Mean F p
Squares Squares

——— ——— —— ——— ———————— i —— T ————————— T — —— —— ———————— " —————— ———— —

Between readers 23 388.68

Within readers 168 142.83

Pronoun = 'T'/'NT!' 1 0.01 0.01 0.01 0.92
Error (a) 23 28.87 1.26

Pronoun = S/0 1 0.03 0.03 0.05 0.82
Error (b) 23 13.51 0.59

Clause 1/2 1 24 .67 24.67 21.97 0.0002
Error (c) 23 25.84 1.12

Pronoun = 'T'/'NT' x S/0 1 0.11 0.11 0.07 0.78
Error (ab) 23 34.89 1.52

Pron = 'T'/'NT' x Clause 1 0.00 0.00 0.003 0.96
Error (ac) 23 6.10 0.27

Pron = S/0 x Clause 1 0.50 0.50 2.01 0.17
Error (bc) 23 5.69 0.25

P="'T"/'NT' Xx S/O x Clse 1 0.12 0.12 1.08 0.31
Error (abc) 23 2.50 0.11

Total 531.51

Significant main effect of clause type (pronominal clause
read faster than first clause).
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Table A 6.29 continued

Eg Analysis by sentences

Source df Sum of Mean F2
Squares Squares

Between sentences 23 75.96-

Clause 1/2 1 12.51 12.51 4.34
Error (a) 22 63.45 2.88

Within sentences 72 22.30

Pronoun = ‘'T!/'NT' 1 0.02 0.02 0.06
Pron = 'T'/'NT' x Clause 1 0.003 0.003 0.01
Error (b) ‘ 22 6.70 0.30

Pronoun = S/0 1 0.02 0.02 0.05
Pronoun = S/0 x Clause 1 0.32 0.32 0.76
Error (c) 22 9.11 0.41
Pronoun = 'T'/'NT x S/0 1 0.07 0.07 0.25
P="'T/'NT'" x S/O X Clse 1 0.03 0.03 0.12
Error (bc) 22 6.02 0.27

Total 98.26

Significant main effect of clause type (pronominal
read faster than the first clause).
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Table A 6.30 Mean verification rates for each passage by
assignment - Experiment 10

Assignment to

Subject Object
Passage
1 mary 2.217 1.39
4 SARAH 2.95 2.27
5 SHAUN 2.60 2.01
6 MR BENTLEY 2,38 2,04
8 DIANE 2.70 1.12
10 SIMON 4.07 4.31
11 FIONA 2.52 1.58
" overall mean  2.78 2.10

Passages which did not have assignments to both the
subject and the object were excluded.
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Table A 6.31 Summary tables for the analyses of variance
of verification rates by assignment - Experiment 10

El Analysis by readers

Source 4 df Sum of Mean Fi p
Squares Squares

Between readers 9 3.25

Within readers 10 17.61

Assignment (S/0) 1 9.80 9.80 11.30 0.008°
Error 9 7.8l 0.87

Total 20.86

Significant main effect of assignment (faster verification
rates when assignment was to the subject rather than the

object).

gg Analysis by passages

Source daf Sum of Mean F, P
Squares Squares

Between passages 6 7.94

Within passages ' 7 2.57

Assignment (S/0) 1 1.63 1.63 10.33 0.018
Error 6 0.94 0.16

Total 10.50

Significant main effect of assignment (faster verification
rates when assignment was to the subject rather than the
object).
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Table A 6.32 Mean assignment rates by condition, object
assignments only - Experiment 11

Clause
FIRST PRONOMINAL X
Cr=s  2.68  1.99 2.34
'NT' = S 2.79 2,12 2.46
""" £ 2.7a  2.06.
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Table A 7.1 Frequency with which subject and object
mentioned first in each passage by condition - Experiment
15

Topic = Subject Nontopic = Subject

First mentioned: Subject Object Subject Object
Passage
1 omay 7 1 9 9
2 JAMES 11 8 11 10

3 CARL 13 0 9 3

4 SARAH 15 2 15 3

5 CLARE 14 4 15 1

6 MR BENTLEY 15 : 4 19 0

7 HERB ' 22 0 19 2

8 COLIN ‘ 10 6 12 3

9 MR ROBERTS 14 6 3 10
10 PENNY 16 2 19 | 2
11 FIONA 14 ' 4 10 5
12 RORY 12 6 17 4
‘Mean 13.6 4.6 13.2 4.3
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Table A 7.2 Frequency with which different reference terms

used to refer to ambiguous, both, other and
unintelligible referents, by condition - Experiment 15
Referent
Reference Ambiguous Both Other Unintelligible
term
T=58
Ellipsis - 2 - 2
Pronoun 0 34 0 0
Name - 5 3 0
NT = 8
Ellipsis - 3 - 2
Pronoun 1 38 0 1
Name - 8 1 0
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Table A

7.3 Frequency with which each reference term was

used to refer to the subject and object in each passage by

Referent:
Ref. term:
Passage

E

condition - Experiment 15

Subject
Object

Nontopic =
Subject

5 CLARE

6 MR BENT.
7 HERB

8 COLIN

9 MR ROB.
PENNY

11 FIONA

Topic = Subject

Subject Object
P N p N
5 2 10 3
1 5 6 2
4 0 0 0
2 1 2 0
2 1 2 2
2 0 4 0
6 0 0 0
4 0 2 4
2 0 4 2
2 2 2 0
0 0 4 0
2 4 2 4

11 4 0 0 1 2
11 3 1 0 0 1
18 1 0 0 0 0

16 3 0 0 1 1

9.7 2.7 1.3 0.0 3.2 1.4 8.8 3.9 0.4 0.0 1.6 2.8

* The lack of ellipsis in this passage is due to the

conjunction

'when'

MR BENT.

MR ROB.

nmuwn

E
P
N

Ellipsis
Pronoun
Name
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Table A 7.4 Summary table for the analysis of variance of
the number of elliptical, pronominal "and nominal

references to the subject by condition - Experiment 15

Eg Analysis by passages

Source df Sum of Mean Fy P
Squares Sqguares

—— . ——— — ————— — ————  — —— - — —— ——— —————— — —— — o ———— — —————— ———— o—

Between passages 10 84.03

Within passages 55 1449.50

T=5/NT=S8 1 0.74 0.74 0.21 0.66
Error (a) 10 35.42 3.54

Ellip / Pro / Name 2 1037.48 518.74 40.13 0.000
Error (b) 20 258.52 12.93

T/NT=S x Ellip/Pro/Name 2 12.21  6.11 1.16 0.33
Error (ab) 20 105.12 5.26

Total ‘ 1533.53

Significant main effect orf reference term (ellipsis,
pronoun or name).
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Table A 7.5 Summary table for the analysis of variance of
the use of pronouns and names to refer to the subject
and object by condition - Experiment 15

EZ Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages 1l 115.46

Within passages 84 344.50

T=S8,/ NT =S8 1 0.04 0.04 0.05 0.82
Error (a) 11 9.46 0.86

Subject / Object ref. 1 0.67 0.67 0.14 0.72
Error (b) 11 52.83 4.80

Pronoun / Name 1 45.38 45.38 27.00 0.0005
Error (c) 11 19.13 1.74

T/NT=S x Subj/Obj 1 0.67 0.67 0.39 0.55
Error (ab) 11 18.83 1.71

T/NT=S x Pron/Name 1 1.04 1.04 0.43 0.53
Error (ac) 11 26.46 2.41

Subj/Obj x Pron/Name 1 28.17 28.17 5.40 0.039
Error (bc) 11 57.33 5.21

T/NT=S x S/0 x Pro/Name 1 37.50 37.50 8.78 0.013
Error (abc) 11 47.00 4.27

Total 459.96

Significant main effect of reference term (more pronominal
than nominal references), significant two way interaction
between the use of pronouns and names and reference to the
subject and object and significant three way interaction
between the use of pronouns and names, reference to the
subject and object and condition (T = S or NT = S).
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NT = S separately - Experiment 15

I=5s
Eg Analysis by passages
Source df Sum of Mean F, p
Squares Squares
Between passages 1l 62.75
Within passages 36 146.50
Subject / Object ref. 1 1.33 1.33 0.44 0.53
Error (a) 11 33.17 3.02
Pronoun / Name 1 30.08 30.08 9.90 0.009
Error (b) 11 33.42 3.04
Subj/Obj x Pron/Name 1 0.33 0.33 0.08 0.78
Error (ab) 11 48.17 4,38
Total 209.25

Significant main effect of reference term (more pronominal
than nominal references).

NT =8
gg Analysis by passages
Source af Sum of Mean F, p
Squares Squares
Between passages 1l 62.17
Within passages 36 188.50
Subject / Objéect ref. 1 0.00 0.00 0.00 1.00
Error (a) 11 38.50 3.50
Pronoun / Name 1 16.33 16.33 14.77 0.003
Error (b) 11 12.17 1.11
Subj/Obj x Pron/Name 1 65.33 65.33 12.80 0.005
Error (ab) 11 56.17 5.11
Total 250.67

Significant main effect of reference term (more pronominal
than nominal references) and significant interaction
between use of pronouns and names and reference to the

subject and object.
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Table A 7.7 Oone of the filler passages used in
Experiment 16

MALCOLM

Malcolm was deep in thought when he suddenly became aware
of someone standing behind him. He was surprised because
he always telt completely alone in the sunhouse at the
bottom of the garden. He spun round quickly and was even
more surprised to see who it was standing there. It was
his sister Kim whom he hadn't seen for over ten years.
Malcolm looked at Kim and

(In this example, the subject of the fragment is male and
the fragment ends with "and".)
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Table A 7.8 Frequency with which subject and object
mentioned first in each pasigge by condition - Experiment
Topic Subject Nontopic = Subject

Fragment ending: "and" "and he" "and" "and he"
First mentioned: S o S o S o S o
Passage

1 wary r 6 7 7 71 3 9 3
2 JAMES 11 13 0 7 6 14 0

3 JANE 6 14 0 2 1 13 1

4 SARAH 11 12 2 8 2 13 1
5 SHAUN 10 12 1 8 1 13 0

6 MR BENTLEY 11 10 3 12 0 13 0

7 HERBIE 14 14 0 12 1 13 1

8 DIANE 5 13 0 9 1 14 0

9 MR ROBERTS 5 13 0 2 5 9 1
10 SIMON 10 12 0 10 0 13 1
11 FIONA 9 9 2 7 3 11 2
12 RORY 8 12 0 8 1 13 0
Mean 8.7 2.111.8 1.3 7.7 2.0 12.3 0.8

= Subject
= Object
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Table A 7.9 Frequency of ambiguous, both, other and
unintelligible references by condition - Experiment 16

T =S58 NT = S
Referent 'and' ‘'pron' 'and' ‘'pron' Total
‘Ambiguous 0 T 2 10 23
Both 33 - 42 - 75
Other 6 - 6 - 12
Unintelligible 0 1 2 0 3
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Table A 7.10 Summary tables for the analyses of variance
of the number of completions where subject mentioned first
by condition - Experiment 16

El Analysis by readers

Source daf Sum of Mean Fq o)
Squares Squares

 Between readers 55 44.14
Within readers 168 134,75
T=S8/NT =S8 1 0.11 0.11 0.18 0.68
Error (a) 55 34.14 0.62
Ending (and/pron) 1 38.61 38.61 61.31 0.00
Error (b) 55 34.64 0.63
T / NT = S x Ending 1 1.61 l1.61 3.46 0.06
Error (ab) 55 25.64 0.47
Total 178.89

Significant main effect of ending (more subject completions
when there was a pronoun at the end of the fragment than
when there was no pronoun) and marginal interaction between
the subject of the sentence and the ending.

F, Analysis by passages

Source df Sum of Mean Fy p
Squares Squares

Between passages 11 152.73

Within passages 36 331.75

T=S/NT =S58 1 0.52 0.52 0.14 0.71
Error (a) 11 40.73 3.70

Ending (and/pron) 1 180.19 180.19 22,77 0.00
Error (b) 11 87.06 7.91

T / NT = S x Ending 1 7.52 7.52 5.26 0.04
Error (ab) 11 15.73 1.43

Total 484 .48

Significant main effect of ending (more subject completions
when there was a pronoun at the end ot the fragment than
when there was no pronoun) and significant interaction
between the subject of the sentence and the ending.
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Table A 7.11 Frequency with which each reference term was
used to refer to the subject and object in each passage by
condition - Experiment 16

Topic = Subject Nontopic = Subject
Referent: Subject Object Subject Object
Ref. term: E P N E P N E P N E P N
Passage

1 MARY * 0 3 1 0 3 3 0 5 2 0 1 2
2 JAMES 8 0 3 0 0 2 4 1 2 0 0 6
3 JANE 3 1 2 0 0 0 1 1 0 0 0 1
4 SARAH .11 0 0 0 0 0 7 1 0 0 0 2
5 SHAUN 9 1 0 0 0 3 7 1 0 0 0 1

6 MR BENTLEY 9 1 1 0 0 3 12 0 0 0 0 0
7 HERBIE 13 1 0 0 0 0 11 1 0 0 0 1
8 DIANE 5 0 0 0 0 4 8 0 1 0 0 1

9 MR ROBERTS 4 1 0 0 1 1 0 1 1 0 0 5

10 SIMON 9 0 1 0 0 0 8 1 1 0 0 0
11 FIONA 9 0 0 0 0 2 7 0 0 0 0 3
12 RORY 6 0 2 0 0 3 5 1 2 0 0 1
Mean 7.2 0.7 0.8 0.0 0.3 1.8 5.8 1.1 0.8 0.0 0.1 1.9

* The lack of ellipsis in this passage is due to the
conjunction 'when' at the end of the tragment.

Ellipsis
Pronoun
Name

E
P
N
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Table A 7.12 Frequency with which different reference
terms used to refer to ambiguous, both, other and

unintelligible referents ('and' condition only) -
Experiment 16

Referent
Reference Ambiguous Both Other Unintelligible
term
IT=5
Ellipsis - 0 - 0
Pronoun 0 26 0 0
Name - 7 6 0
NT =S
Ellipsis - 0 - 2
Pronoun 2 35 0 0
Name - 7 6 0
Total 2 75 12 2
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Table A 7.13 Summary table for the analysis of variance of
the number of elliptical, pronominal and nominal

references to the subject by condition - Experiment 16

Eg Analysis by passages

Source df Sum of Mean F, p
Squares Squares

Between passages i0 53.94

Within passages 55 816.50

T=S,/NT =S8 1 3.4l 3.41 3.49 0.089
Error (a) 10 9.76 0.98

Ellip / Pro / Name 2 606.94 303.47 37.68 0.000
Error (b) 20 161.06 8.05

T/NT=S x Ellip/Pro/Name 2 8.82 4.41 - 3.33 0.055
Error (ab) 20 26 .52 1.33

Total 870.44

Significant main effect of reference term (ellipsis,
pronoun or name), marginal main effect of whether topic or
nontopic was subject of sentence and marginal interaction
between whether topic or nontopic was subject and reference
term.
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Table A 7.14 Frequency with which the subject and object
mentioned first in each sentence - Experiment 17

First mentioned

SUBJECT OBJECT
Sentence
1 mary s o
2 JAMES 15 5
3 CARL 17 3
4 SARAH 12 4
5 CLARE 13 4
6 MR BENTLEY 19 1
7 HERB 18 2
8 COLIN 14 4
9 MR ROBERTS 7 11
10 PENNY 15 2
11 FIONA 8 11
12 RORY 14 2
‘Mean 132 s.0
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Table A 7.15 Frequency with which different reference
terms used to refer to ambiguous, both, other and
unintelligible referents - Experiment 17

Referent
Reference Ambiguous Both Other Unintelligible
term
Ellipsis - 1 - 0
Pronoun 0 17 1 0
Name - 0 3 0
Total 0 18 4 0
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Table A 7.16 Frequency with which each reference term was
used to refer to the subject and object in each sentence -
Experiment 17

Referent
SUBJECT OBJECT
Reference term: E P N E P N
Sentence
1 mary ¢+ o s 1 - 4 1
2 JAMES 4 8 3 - 1 4
3 CARL 5 8 4 - 1 2
4 SARAH 6 4 2 - 2 2
5 CLARE .10 3 0 - 1 3
6 MR BENTLEY 10 9 0 - 0 1
7 HERB 10 7 1 - 1 1
8 COLIN 6 6 2 - 1 3
9 MR ROBERTS 6 0 1 - 5 6
10 PENNY 5 7 3 - 0 2
11 FIONA 5 2 1 - 6 5
12 RORY 7 6 1 - 0 2
“Mean 6.2 5.4 1.6 - 1.8 3.2
* The 1lack of ellipsis in this passage is due to the

conjunction 'when' at the end of the fragment.

E = Ellipsis
P = Pronoun
N = Name
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Table A 7.17 Summary tables for the analyses of variance
of reference terms used to refer to the subject -
Experiment 17

F, Analysis by readers

Use of ellipsis and pronouns

Source df Sum of Mean Fy P
Squares Squares
Between readers 19 61.48
Within readers - 20 162.50
Ellipsis/Pronoun 1 2,03 2.03 0.24 0.63
Error 19 160.48 8.45
Total 223.98

No significant effect.

El Analysis by sentences

Use of ellipsis, pronouns and names

Source dat Sum of Mean F, p
Squares Squares
Between sentences i1 65.89
Within sentences 24 268.67
Ellip/Pron/Name 2 145.06 72.53 12.91 0.0004
Error 22 123.61 5.62
Total 334.56

Significant main effect of reference term (names used less
frequently than ellipsis or pronouns).
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Table A 7.18 Summary table for the analysis of variance of
the use of pronouns and names to refer to the subject
and object - Experiment 17

Eg Analysis by sentences

Source daf Sum of Mean F, P
Squares Squares

Between sentences 11 25.00

Within sentences 36 271.00

Subject / Object ref. 1 12.00 12.00 1.13 0.31
Error (a) 11 117.00 10.64

Pronoun / Name 1 18.75 18.75 11.96 0.005
Error (b) 11 17.25 1.57

Subj/Obj x Pron/Name 1 80.08 80.08 33.99 0.000
Error (ab) 11 25.92 2.36

Total 296.00

Significant main effect of reference term (more pronminal
than nominal references) and significant interaction
between the use of pronouns and names and reference to the
subject and object.
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Table A 7.19

Frequency with which the subject and

object

were mentioned first in each sentence by condition -
Experiment 18
Condition
'and' 'pron'
First mentioned: Subject Object Subject Object
Sentence
L owary 1 o w0 6
2 JAMES 5 5 10 2
3 JANE 10 6 9 0
4 SARAH 14 1 13 2
5 SHAUN 8 8 12 5
6 MR BENTLEY 15 2 11 2
7 HERBIE 17 3 19 0
8 DIANE 13 3 18 1
9 MR ROBERTS 7 12 14 5
10 SIMON 18 1 19 1
11 FIONA 6 13 6 8
12 RORY 11 1 10 1
‘Mean  10.4 5.3 12.6 2.8
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Table A 7.20 Frequency of ambiguous, both, other and
unintelligible references by condition - Experiment 18

Condition
Referent 'and' 'pron'

" Ambiguous 13 55
Both 35 -
Other 3 -
Unintelligible 0 1
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Table A 7.21 Summary tables for the analyses of wvariance
of subject and object completions by condition - Experiment
18

F, Analysis by readers

Subject completions only

Source df Sum of Mean Fq p
Squares Squares
Between readers 39 68.80
Within readers 40 101.00
Ending (and/pron) 1 8.45 8.45 3.56 0.06
Error 39 92.55 2.37
Total 169.80

Marginally significant main effect of ending (more subject
completions when there was a pronoun at the end of the
fragment than when there was no pronoun).

Eg Analysis by sentences

Subject and object completions

Source df Sum of Mean F, p
Squares Squares

Between sentences 11 102.23

Within sentences 36 1400.25

Ending (and/pron) 1 0.52 0.52 0.16 0.70
Error (a) 11 35.23 3.20
Subject/Object 1 667.52 667.52 13.42 0.004
Error (b) 11 547.23 49.75

Ending x S/0 1 67.69 67.69 9.07 0.01
Error (ab) 11 82.06 7.46

Total 1502.48

Significant main effec£ of subject/object completions (more
completions in which the subject was first mentioned) and
significant 1interaction between subject/object completions

and ending of the fragment.
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Table A 7.22 Frequency with which each reference term was

used to refer to the subject and object in each sentence

Experiment 18

Referent
SUBJECT OBJECT
Reference term: E P N E P N
Sentence
1 marY * o o 1 - o 9
2 JAMES 3 2 0 - 0 5
3 JANE 7 ) 3 - 0 6
4 SARAH 12 2 0 - 1 0
5 SHAUN 6 2 0 - 0 8
6 MR BENTLEY 15 0 0 - 0 2
7 HERBIE 14 3 0 - 0 3
8 DIANE 11 2 0 - 1 2
9 MR ROBERTS 4 2 1 - 2 10
10 SIMON 16 2 0 - 1 0
11 FIONA 6 0 0 - 0 13
12 RORY 10 0 1 - 0 1
“Mean 8.7 1.3 0.5 - 0.4 4.9

N.B. This analysis is only applicable to those
fragments which did not end in a pronoun.

* The 1lack of ellipsis in thls passage is due
conjunction 'when' at the end of the fragment.

E = Ellipsis
P = Pronoun
N = Name
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Table A 7.23 Frequency with which different reference
terms used to refer to amblguousL both, other and

unintelligible referents ('and' condition only) =
Experiment 18

Referent
Reference Ambiguous Both Other Unintelligible
term
Ellipsis - 0 - 0
Pronoun 13 33 1 0
Name - 2 2 0
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Table A 8.1 Experimental sentences used in Experiment 19

'0ld' sentences

Number
of words

1 Mary was asked by Jenny to phone the theatre to
see what was on when she joined her for breakfast. 20

2 Sarah was visited by Trish and she told her what
had been happening to her. 15

3 Shaun was led along the path by Ben and he called
to him to be careful. 16

4 Herbie was seen by the policeman and he shot at
him. 11

5 Mr Roberts was taught by Jonathan how to make a
kite and he showed him how to make it fly properly. 21

6 Rory was met by Alfie on the street one day and he
bit him. 14

Range: 11 - 21

Mean: 16.2

'New' sentences All 15 words long

7 Janet was welcomed by Carol and she told her it was
nice to see her.

8 Katie was upset by Susan and she asked her to come and
talk things over.

9 Phillip was chased by Gerald and he shouted abuse at
him in the dark alley.

10 Colin was victimised by Stuart and he called him all
the names under the sun.

11 Kevin was admired by Charles and he spoke to him about
the new business deal.

12 Barry was attacked by Tony and he punched him hard in
the chest and face.

13 Tim was bullied by Julian and he accused him of
stealing his new army knife.

14 Joanne was criticised by Fiona and she told her she
was behaving like a child.
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Table A 8.1 continued

15

16

17

18

19

20

21

22

23

24

25

26

The girl was rebuked by her mother and she expected
her to be rather sorry.

The girl was greeted by her aunt and she took her out
to have lunch.

The boy was cornered by the headmaster and he asked
him about the school play.

The o0ld man was approached by the policeman and he
asked him what had happened.

The thief was followed by the policeman and he saw him
cross the old bridge.

The schoolboy was injured by the motorist and he asked
him to give his name.

The schoolboy was kidnapped by the terrorist and he
asked haim to ring his parents.

The nurse was telephoned by the woman and she asked
her how her child was.

The girl was adored by her grandmother and she visited
her as often as possible.

The girl was interviewed by the headmistress and she
disliked her for being so rude.

The rapist was captured by the young policeman and he
called him a filthy swine.

The Irish informer was deceived by the policeman and
he led him into a trap.
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Table A 8.2 Number of assignments to the first and second
character for each sentence - Experiment 19

Sentence Asst to: First character Second character
1wy s TS
2 SARAH 6 4
3 SHAUN 3 7
4 HERBIE 4 6
5 MR ROBERTS 6 4
6 RORY 2 8
7 JANET 4 6
8 KATIE 9 1
9 PHILLIP 2 8
10 COLIN 3 7
11 KEVIN 3 7
12 BARRY 4 6
13 TIM 3 7
14 JOANNE 2 8
15 GIRL/MOTHER 1 9
16 GIRL/AUNT . 1 9
17 THE BOY 0 10
18 THE OLD MAN 0 10
19 THE THIEF 0 10
20 SCHOOLBOY/MOTORIST 7 3
21 SCHOOLBOY/TERRORIST 2 8
22 THE NURSE 3 7
23 GIRL/GRANDMOTHER 6 3
24 GIRL/HEADMISTRESS 2 8
25 THE RAPIST 4 6
26 THE IRISH INFORMER 2 8
Mean 3.2 a2
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Table A 8.3 Summary tables for the analyses of variance of
assignments - Experiment 19

El Analysis by readers

Source daf Sum of Mean Fy o)
Squares Squares

Between readers 9 0.45

Within readers 10 520.50

Assignment (lst/2nd) 1 414.05 414,05 35.01 0.0004
Error 9 106.45 11.83

Total 520.95

Significant main eftfect of assignment (more assignments to
the second character than to the first).

Eg Analysis by sentences

Source dat Sum of Mean F, P
Squares Squares
Between sentences 25 0.48
Within sentences 26 418.50
Assignment (lst/2nd) 1 159.25 159.25 15.36 0.0009
Error 25 259.25 10.37

Total 418.98

Significant main effect of assignment (more assignments to
the second character than to the first).
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Table A 8.4 Mean assignment rates (words per second) for
each sentence by assignment - Experiment 19

Assignment to

First character Second character

Sentence
1 wary ras 128
2 SARAH 1.72 1.77
3 SHAUN 2.35 1.63
4 HERBIE 1.94 1.75
5 MR ROBERTS 2.11 2.57
6 RORY 0.94 1.15
7  JANET 2.11 2.16
8 KATIE 1.83 1.56
9 PHILLIP 1.84 1.86
10 COLIN 2.92 2.09
11 KEVIN 1.47 1.23
12 BARRY 1.75 2.27
13 TIM 1.42 1.90
14 JOANNE 1.44 1.87
15 GIRL/MOTHER 2.26 1.61
16 GIRL/AUNT 1.63 2.97
17 THE BOY 2.53" 2.46
18 THE OLD MAN 2.00" 1.93
19 THE THIEF 2.69" 2.62
20 SCHOOLBOY/MOTORIST 1.82 1.86

continued...
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Table A 8.4 continued

Assignment to

First character Second character

Sentence
21 SCHOOLBOY/TERRORIST 359 1.85
22 THE NURSE . 2.21 2.52
23 GIRL/GRANDMOTHER 2.43 1.79
24 GIRL/HEADMISTRESS 3.86 2.10
25 THE RAPIST 2.27 1.75
26 THE IRISH INFORMER 2.63 1.99
Mean 211 194

* Calculated using Winer's formula
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Table A 8.5 Summary tables for the analyses of variance of
assignment rates by assignment - Experiment 19

El Analysis by readers

Source df Sum of Mean Fy p
Squares Squares

Between readers 9 4.10
Within readers 10 1.33
Assignment (lst/2nd) 1 0.04 0.04 0.25 0.64
Error 9 1.29 0.14
Total 5.43
No signficant effect.
EZ Analysis by sentences
Source df Sum of Mean F, p
Squares Squares
Between sentences 25 10.56
Within sentences g;* 5.94
Assignment (lst/2nd) 1, 0.37 0.37 1.64 0.21
Error 22 5.58 0.22
Total 16.51

No signficant effect.

* Degrees of freedom adjusted to take account of
replacements using Winer's formula.
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Table A 8.6 Mean assignment rates for each 'new’
sentence by assignment - Experiment 19

Assignment to

First character Second character

Sentence

7 oawer a1 1.4

8 KATIE 1.22 1.04

9 PHILLIP 1.22 1.24
10 COLIN 1.95 1.40
11 KEVIN 0.98 0.82
12 BARRY 1.17 1.51
13 TIM 0.94 1.27
14 JOANNE 0.96 1.25
15 GIRL/MOTHER 1.51 1.08
16 GIRL/AUNT 1.09 1.98
17 THE BOY 1.71% 1.64
18 THE OLD MAN 1.36" 1.29
19 THE THIEF 1.81% 1.74
20 SCHOOLBOY/MOTORIST 1.21 1.24
21 SCHOOLBOY/TERRORIST 2.40 1.23
22 THE NURSE 1.47 1.68
23 GIRL/GRANDMOTHER 1.62 1.19
24 GIRL/HEADMISTRESS 2.57 1.40
25 THE RAPIST 1.51 1.17
26 THE IRISH INFORMER 1.76 1.33
mean 1.9 1.35

* Calculated using Winer's formula.



Table A 8.7 Summary tables for the analyses of variance of
assignment rates by assignment - Experiment 19, ‘'new'
sentences only

El Analysis by readers

Source daf Sum of Mean F p
Squares Squares

Between readers 9 1.77

Within readers 10 0.69

Assignment (lst/2nd) 1 0.02 0.02 0.31 0.60
Error 9 0.67 0.07

Total 2.47

No significant effect.

EQ Analysis by sentences

Source af Sum of Mean F, P
Squares Squares

Between sentences 19 2.90

Within sentences ll* 2.47

Assignment (1lst/2nd) 1 0.21 0.21 1.81 0.19
Error 16 2.25 0.12

Total 5.36

No significant effect.

* Degrees of freedom adjusted to take account of
replacements using Winer's formula.
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Table A 8.8 Mean reading rates (words per second) for
each sentence by condition - Experiment 20

Pronoun referred to

First character Second character

Sentence
1 wary 3.88 413
2 SARAH 4,35 4.13
3 CLARE 4,83 4.81
4 HERB 3.82 3.76
5 MR ROBERTS 4.87 4.13
6 RORY 5.07 4.22
7 JANET 5.01 4.73
8 KATIE 4.62 4.90
9 PHILLIP 4.26 3.91
10 COLIN 4.51 5.01
11 KEVIN 3.78 4.26
12 BARRY 3.74 4,45
13 TIM 4.25 3.83
14 JOANNE 4.80 4.67
15 GIRL/MOTHER 4,39 4.56
16 GIRL/AUNT 4.59 4.53
17 THE BOY 4.32 3.93
18 THE OLD MAN 4.29 4.48
19 THE THIEF 3.84 3.23
20 SCHOOLBOY/MOTORIST 4.42 4,94

continued...
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Table A 8.8 continued

Pronoun referred to

First character Second character

Sentence
21 SCHOOLBOY/TERRORIST s.a2 s.s8
22 THE NURSE 3.49 4.21
23 GIRL/GRANDMOTHER 5.28 4.12
24 GIRL/HEADMISTRESS 4.19 5.05
25 THE RAPIST 4.39 4.31
26 THE IRISH INFORMER 3.44 4.35
Mean s.38 538
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Table A 8.9 Summary tables for the analyses of variance of
reading rates by condition - Experiment 20

El Analysis by readers

Source daf Sum of Mean Fq p
Squares Squares

Between readers 19 35.89

Within readers 20 1.01

Pronoun = 1lst/2nd 1 0.02 0.02 0.30 0.60
Error 19 0.99 0.05

Total 36.90

No significant effect.

EZ Analysis by sentences

Source df Sum of Mean Fy P
. Squares Squares

Between sentences 25 6.62

Within sentences 26 3.94

Pronoun = lst/2nd 1 0.02 0.02 0.12 0.73
Error 25 3.93 0.16

Total 10.56

No significant effect.
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